o o Al

A

2N DHE
M =0 MY Ho E2(NAS)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
18s 845,516 794,010 51,506
=0l A Ho| E2(DN4s) 126,3%4 98,176 28,218
YIS 29 126,3%4 98,176 28,218
.8y N3 98,280 74,880 23,400
301 EetE NS 98,280 74,880 23,400
o7 8% -0 - H¥Es243 98,280 74,880 23,400
.88+ ¥ 234l 98,280
rol=eE 300,000 x21E12& 75,600
Lt.&f0iS 300,000 21 +23] 12,600
Chalo @A+
20,0002 x212H*23|x 122 10,080
FUNXMEEZ )Y 2 13,936 13,296 640
201 et 3| 13,296 13,296
01 At2t2l] 13,296 13,296
(2er=2Hl) 1,296
1.2 AIME 28
120,000 * 122 +90% 1,29
(2e=¢) 12,000
1.=2AXME SAtE 12,000
b AZEUA 25,0002 x8Al 2t 12 2,400
LEOtRuA 25,0003 *8AI2H+ 123 2,400
ChIISHZ 25,0002 +8Al 2t 123 2,400
chEZEHA 25,0003 *BAlI 2t 123 2,400
OHEE R0t 25,0003 *BAl 2t 122 2,400
405 KHakE SH 640 640
01 AL =S F=H 640 640
1. FUXXME JteEEI| Y
640,000 *1H 640
AR 2l 14,178 10,000 4,178
101 @124H| 7,282 7,104 178
04 JIZtNZ2 2N S+ 7,282 7,104 178
(SEAH 4 A2Y 7,232
1.2+ 6,508
.20
78,880 /BAI 2+ 1H+E5A| 2+ 128 6,508
2NENERY 288 724
LAHEE = 6,508,000 *0.85%% 56
Ll OEEEE 6,508,000& *1.75% 114
Ch.=2IAS2E= 6,508,000 4. 5% 293
ct. oA EER
6,508,000 *3.545% 231
Oh=RIEDIRSEEE
231,000 %12.81% 30




SA: DHS
Bu: X0l ¥H MO T2(DHE)
el HESKEEH 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
3. fetAZH Y| 50,0002 x1H 13 50
201 er23| 2,8% 2,8%
01 At22te|Hl 2,8% 2,8%
.20 g2 =8 208,000& 128 2,49%
2 HARIIOE Y442
200,0003 * 10 2x23] 400
401 Al HIZL S 0HYI 4,000 4,000
01 Al&H| 4,000 4,000
1.8 24 BLXS (=) E=3A
4,000,000& *14] 4,000
SADIEAIE HBI(DES) 15,000 15,000 0
SAIDIEHAIE EHI 15,000 15,000 0
2E2F AE= ZH| 5,000 5,000 0
401 AIEHIZ R HYI 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.4E25 AlEE 7A2e
5,000,000 * 14 5,000
UMM SHEHEAS 10,000 10,000 0
401 AlEHIZ S 0HbI 10,000 10,000
01 AlZH| 10,000 10,000
1.ot=Z SFOHEDI £X
10,000,000 * 14 10,000
HY2HAH(DES) 704,122 680,834 23,288
el 2| 627,682 602,751 24,931
el 24| 627,682 602,751 24,931
101 @124H| 627,682 602,751 24,931
01 &2 627,682 602,751 24,931
(23) 439,737
1.A8H(18) 88,457
=% 85,004,000& 1 85,054
LE. M <IH&H] 85,054,000 4% 3,403
2. X:2E(109) 351,280
ot.62(18583) 3,874,800 2+ 122 92,9%
Lh.72(988) 2,770,200 +3F 128 99,728
Ct.8=2(1083) 2,574,300 «4E«12E 123,567
ct.9=2(283) 1,789,800 x1H~12& 21,478
OF. X S IH & 337,769,000 *4% 13,511
(&0i==d) 38,895
1LUe3RE =& 1,681
H7EU=R(82 1983)
3,211,500 x 18 4. 1%+ 123 1,581
2.832+¢ 351,280,000&*1/12 29,274
3.32EoHts 8,040




2AM: D4s
M #ReHAH|(DLE)
chol: ol (19 @)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Jt.25:401 4} 130, 0002 *124 128 1,560
Lt. 15t0| at~20t 0 2t
80,0003 +3H 123 2,880
Ct.55014~10=0(8t
50,0003 x6H =123 3,600
OHHEE ) 8,400
1.0t85Y 8,400
Jb Ut 40,0002 +3*12& 1,440
LE.JIEDIS 20,0003 «8F =123 1,920
Ct. =M At 30,0003 x6H 123 2,160
ct.EMAH 60,0003 x4« 12& 2,880
(242242) 16,440
1.5082Y 16,440
S22 70,0003+ 118+ 123 9,240
Lt OIRHARE 50,000& x2ZF+12& 1,200
CHAISIEXIER+E
70,0002 5% 122 4,200
INEEERR=S Y=
30,0003 x5 =123 1,800
(X224 46,182
BRI
11,3193 «34A1 2t 10« 12& 46,182
(AH24 S) 53,608
1. Z3AZAH| 140,000 x11Z 123 18,480
2. 9ESOt| 351,280,000&*1.2/12 35,128
EEEESH) 24,420
1.5 250,000&x 1+ 123 3,000
2.6 185,000 x2F 122 4,440
3.7= 180,000 *3G*12& 6,480
4.892 175,000& x5 122 10,500
f=pla]l 76,440 78,083 1,643
J|1E23&| 76,440 78,083 1,643
201 B2 AY| 37,860 37,043 817
01 AtR2telt] 17,772 16,955 817
(eet=2H|) 10,260
1. 2N2E 2| 300, 0003 * 12 +80% 2,880
2.0HIZER MREE
100,000 x12& 1,200
3.5x= d=&X 26,0003 #1558 A 390
4 0UTEN L2 EX
86,5003 #58f A 433
o2y EY/=™ 155,250 #4CH*43] 2,484
WA El 150,000& *1CH*42] 600
ols|2l= 20,0003 «1CH* 123 240
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2A: DHS
T BNSAAY|(DES)
Chel: J1=2 &l EEREE
SA - ZE . BR() - HRAR - BES of v G o HIDE2
8. SALEX 20,0003 252 A 500
9. 801 X= 30,0008 x 128 2K 720
10.7488E stz 8,000 ~12& %
N.3JIMIIHER 59,7003 * 122 mnr
(2g9+¢) 600
(R=E RS 60,0002 12102 600
(2 6,912
1.01=go4s Sa2AY)
8,000 x6A1* 128 * 122 6,912
2 S5=24g4l 20,088 20,088 0
(SS2SLAA) 18,164
1L.98= 3,294
Jr.egt 4302 #5021 %122 258
Lt. S 2,5303 %1004~ 128 3,036
2. 80|12 900,000 * 122 10,800
3.4.0l=kR= 100,000& «12& 1,200
4. HetErsg 250,0002 %12 250
SRESPUC 2,620
Ib RS IHA 130,000 *2LH*13] 260
Lt A== 60,0003 *2CH*13] 120
Ch U2 = 1,000, 000& «2CH*12] 2,000
chAEESHE 10,0003 =20~ 123 240
(AIE&HIRXIH]) 1,924
EH RS 100,000 «1CH 100
2. =QEOIA A S22
33,0003 »2CH*43] 264
3. AZ2UAMAAE ST
30,000 *1CH* 12 360
4. B3NAZE RAES 600,000 600
5. 8 ==cltl 100,000& »2LH+*32] 600
202 04l 27,660 27,660
01 =LHA LI 3,360 3,360
1.=U0d8I 20,0003 1022 * 123 *70% 3,360
02 A0 24,300 24,300 0
1.2 NI 225,000 x9F ~ 128 24,300
203 =] 9,120 9,080 40
01 D122 HARFA| 5,940 5,940 0
1.0 228 YR 6,600,000 *90% 5,940
02 FRItAA =AY 480 440 40
13N R A 40,0008 * 12& 480
M A2 LRFEI 2,700 2,700 0
1L.2AE2EE R4
250,000 x 122 *90f% 2,700

_4_




A DES
M HARAZH(DLES)
Chel: J1=2 &l EEREE
(=] ANZH . Cl2l(S (=] =2 OH E‘“.—jE =2
204 APt AH| 1,800 1,800
01 MG AR A HH] 1,800 1,800
1AM FTY| 1,800
hsFE 150,000& 1~ 128 1,800




Al A

M £ 2 &
2045 E 200 LRSI JIEISERIN DHS ~ 22
SA: ANE
HI: FOMH HOTR(HMS)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=R 1,213,317 1,179,624 33,693
FOMY HOTD(ELE) 222,456 237,776 A15,320
HY=XHE 2 222,456 237,776 15,320
=N 191,880 191,880 0
301 YR FZ 191,880 191,880 0
07 S& - 01% - BHEBSENZ 191,880 191,880 0
.83+ Y 25y 191,880
oL SRS 300,000 #4124 * 128! 147,600
L &403 300,0002! *41%4 23| 24,600
Ch.3lo &4
20,0002 *412 x5 122 19,680
FURNKHEHZ2 2 18,096 18,096
201 LB | 18,096 18,096
01 AtR22lt| 18,096 18,096
(Yereg) 1,0%
1L FQUXRIME 2|
120, 000! * 122 *90% 1,0%
(2g+¢) 16,800
Jhotemal 25,0002 +8AI 2+ 122 2,400
Lh AZXHA Z38
25,0002 8| 2122 2,400
ChAZXHA D38
25,0002 +8AI 2+ 122 2,400
ch. e A 25,0002 +8AI 2+ 122 2,400
OF.2relthA 25,0002 +8AI 2122 2,400
Hh.&t=20I%E 25,0002 8| 2122 2,400
AL 21w Al 25,0002 *BA| 2128 2,400
AR X2 2,980 19,800 ~16,820
201 Yer2% | 2,980 2,980 0
01 AtR22/d| 2,980 2,980 0
lLRoIH 2242
220,0002* 122 2,640
2EANFIIHENHS L2
170,00024 %174 4523 340
FOUEOOIA SEHOASAY 9,500 8,000 1,500
405 Ko SH 9,500 0 9,500
01 AL SEF SH| 9,500 0 9,500
1.2AUSTHI| HIXI(S Z0IE AtY)
2,500, 0002 *1CH 2,500
XY =) HX(S HFOE AMY)
7,000,000 *1CH 7,000
SADIEAIE BHI(BEE) 5,000 5,000
SADIEAIE FH] 5,000 5,000
A8 ANES Y 5,000 5,000




2A:

X XH -
o=

NS
=2o S

TAIDIBAIE HHI(EAES)

SRl ZADIEIAIE FHI - (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 AlZHIZL SO 5,000 5,000
01 Al&H| 5,000 5,000
1.AZ25 AIE2E |X2el
5,000,000& *14] 5,000
HY2AAH(ELES) 985,861 936,848 49,013
el 2| 881,626 829,780 51,846
el 24| 881,626 829,780 51,846
101 @124H| 881,626 829,780 51,846
01 &= 831,626 829,780 51,846
(=) 615,237
1.4EM(18) 88,457
s 85,054,000 * 1 85,054
LE. M IH&H] 85,004,000 4% 3,403
2. 25 4(159) 526,780
ot.62(1828) 3,874,800 x3H 122 139,493
Lh.72(11&s) 2,959, 10036~ 12& 213,056
Ct.82(653) 2,208,200 x5« 122 132,492
ct.9=(253) 1,789,800 x1&* 122 21,478
OF. M IH & 506,519,000 *4% 20,261
(&toi==d) 54,498
LUes:dE =4 1,959
testR(737ES)
3,979,700 4. 1%~ 123 1,959
2.82+4 526,780,000& x1/12 43,899
3.82=gMts 8,640
Jh.25401 2 130,000&x1&~ 122 1,560
L. 155 0[&~20 012
80,0002 38 * 12 2,880
CH.5E0l4~1040] 2t
50,0002 7 * 12 4,200
OH2d=g) 5,400
1.0tEg 5,400
I BN 40,0003 x4~ 123 1,920
LEJIERS 20,0002 x10F 122 2,400
Ch XM AHA 30,0002 +x3&* 12 1,080
(S+22+9) 22,440
[ 22,440
h.s28=¢ 70,0002 x15EF «12& 12,600
Lt 2IAAR 50,0002 x3& 123 1,800
Ch AR SAIER+E
70,0008 +7& x 122 5,880
ch AR SXI RIS
30,0002 6 122 2,160
(zD2242) 69,273




A B24S
M wEeHAH|(FMS
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
NECEET S,
11,3192 #34A1 2H+ 158 <123 69,273
(A4 8) 79,558
1.3 HSAH 40,0002 x16E 128 26,880
2. BEFJI 526,780,000& +1.2/12 52,678
(H3E=HI) 35,220
1.55 250,0003x 1~ 122 3,000
2.68 185,000 x3&* 12 6,660
3.7= 180,000& 62 123 12,960
4.895 175,000&x62 123 12,600
=3l 104,235 107,068 A2,833
Jl=23H] 104,235 107,068 2,833
201 Ler=23 | 53,915 54,398 A483
01 At2teltl 23,982 24,465 A483
(er=2Hl) 14,166
1.2A 23 300,000 x 16 *80% 3,840
2.0l ZglE &
200,000 x4 CH*32] 2,400
3.Zugy =™ 300,000 *23] 600
4.2ANESI] B 220,000 2CH =23 880
FoUSSSz=¢sEN
26,0003 *302 A 780
6.0 ZSHEMLSEA
80,0003 158 A 1,200
7.2150| el 20,0002 %301 x 12 720
8.2AIEX 20,0003 #5082 A 1,000
9.8 gtz 30,0003 *2CH* 122 720
0. 78S U= 16,5002« 12& 198
N.AsdE8Es3) e 77,0002 *5H 385
2.uAsS8EE3)| el
242,000 *3H 726
1B.3JIHZ0 SX= 59,7002 122 mnr
(2g9+9) 600
1.e=82g 60,0002 x 1 »10 600
(=&tl) 9,216
1J2gfs8s2s4t
8,000 x6A1* 162+ 12 9,216
2 s3234| 29,933 29,933 0
(3322 & MA) 24,017
1L.98= 7,757
Jh.egt 4303 %1502+ 122 774
Lt. S 2,5303 %2304~ 128 6,983
2.80122 1,000,000& «12& 12,000
.ot es 90,0002~ 12 1,080
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SN B8S
HH: HESAAY|(HYE)
Chel: J1=2 &l EEREE
_ I
SN - BE - BI(EH) - MRAY - BES ol ke e HmES]
4. 83t a2 200,000& *12] 200
MNASFRISHEA 22|
60,0002 122 720
6. HASTODSHTA HoTHALSR
200,0003 #2002~ 400
YHNY FEE 500, 00021 #1CH*13] 500
BEY BIBASLE
60,0003 »1CH*12] 60
9.2 FNERE S (HE )
80,000 *1CH*13! 80
10. XS NHSIHA
30,0002 *1CH*12l 30
N.Y¥FESNYE B8
1,000,000 *1CH*12] 1,000
12.XFESXXE ASIHAl
130,000 = 1CH* 13 130
B.ASE=EXNXNE I A=r2
60,0003 *1CH*12] 60
(ANEEHISXIY]) 5,916
1L EARS S 2,000, 0002 2,000
2 HASFOUBEAIL 22lH|
400,000 400
3. 2QISIAIAE RXIE=HI
33,0002 »3CH*42] 3%
4. XN2IAMAIAR S X2 44|
30,0002 %128 360
5. #FXY BRI 150, 0002 +1Ch« 122 1,800
PEHSTNY 22|
30,0003 «1CH+12& 360
7. Xt =2lt| 100,000& *2CH+*33] 600
202 044l 38,700 38,700
01 =04 bl 3,600 3,600
1.=LH04H] 20,0003 10 3 * 122 *50% 3,600
02 M0 35,100 35,100 0
IR=E L] 225,000 x13H~ 123 35,100
203 R F=&] 9,820 9,820
01 J1 228 RF8H| 5,940 5,940
1|22 HRFA]| 6,600,000 *90% 5,940
02 RIS Z=AH| 640 640 0
1. 23ISR =8| 40,0002 *16H 640
M4 FA2LLE A 3,240 3,240 0
1.2M2E YR
300,000 * 122 *90% 3,240
204 M= FH| 1,800 1,800
01 MY RHHH 1,800 1,800
1L AMGHRFAI 1,800




—

Uo
X0
K

D

10

od
i’
oF
uJ

30 o
L0 OH RO
0 R0 I
KU w0 ~

X R
al

IF RO

=

-

KIO

Hlw

HMEE
Ofl &k2h

Ofl &F2H

1,800

By

SA - Z3F - SRA(3) - HRAEY

150,000& x1H 122

-

o
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Al A

Ml £ = &
Olah ek JIEISE8RH Jds ~ =98
atHS
Z0l #E Ho| TR (HME)
Y =XME 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 830,033 788,884 41,149
Y ol TR (HMMS) 114,504 116, 144 21,640
YIS 29 114,504 116, 144 1,640
.8y N3 84,240 84,240 0
301 EetE NS 84,240 84,240 0
o7 8% -0 - H¥Es243 84,240 84,240 0
1.88+g 4 54 84,240
rol=eE 300,000 x18F12& 64,800
L. &0z 300,000& « 18 *23] 10,800
Ct.3lol a4y
20,0003 x 18 »22|« 12 8,640
FUNXMEEZ )Y 2 13,296 15,296 A2,000
201 et 3| 13,296 13,296 0
01 At2t2l] 13,296 13,296 0
(2er=2Hl) 1,296
1LFUNXIME 23]
120,000 * 122 +90% 1,29
(2e=¢) 12,000
1LFEXXME ZA=E 12,000
DALY ==t M=
25,0002 =8Al 2t 12 2,400
Lh.S2=0lud
25,0002 +8Al 2t 122 2,400
Ch.2Jtual 25,0003 *BAlI 2t 123 2,400
ch.SHHA A
25,0002 x8Al 2t 12 2,400
OFotemal 25,0002 *BA| 2H+ 122 2,400
EAR A2l 6,968 6,608 360
201 er2 3| 6,968 6,608 360
01 AtR2telHl 6,968 6,608 360
1.2y 2|2 (2532 Z8)
157,000& 201 A+ 128 3,768
2N A2 (2522 28
110,0003 204 2x23] 440
3.8 BT (2332
230,000 #1042+ 123 2,760
FUHC A SHEHEAS 10,000 10,000 0
201 er2 3| 10,000 0 10,000
03 A= I 10,000 0 10,000
1.34HS &2 243 A
10,000,000& *13] 10,000
ADIBEAIE HEI(EAHS) 5,000 5,000
SADIBIAIE HHI 5,000 5,000
A== ANES EHl 5,000 5,000 0
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R TS
Z: CADIBAIE FHI(BAHS)
SR SAID|EAIE FH| (CHol: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
401 AIEBIZ20HbI 5,000 5,000
01 Al&HI 5,000 5,000
1.4=23 AN&2 sXlzael
5,000,000& * 14! 5,000
HERAEH|(EAHS) 710,529 667,740 42,789
ol 2| 630,301 590,172 40,129
olE2HH| 630,301 590,172 40,129
101 214 d| 630,301 590,172 40,129
01 2=+ 630,301 590,172 40,129
(82) 425,692
1LASH(1Y) 88,457
s 85,054,000 1 85,054
Lt H<IHAH| 85,054,000 4% 3,403
2. 23 (10Y) 337,235
t.62(1858) 3,874,800 x2H +12& 92,99%
L. 7298 8) 2,770,200 x4B 123 132,970
Ct.e2(728) 2,305,900 x2F + 122 55,342
ct.9=2(2s8) 1,789,800&x2F 123 42,956
Ot XM <IH4 bl 324,264,000 *4% 12,971
(A0g) 33,623
1.832=¢ 337,235,000&*1/12 28,103
2. 8323 5,520
Jb. 154301 &~20E 0] 2t
80,000& x2H+12& 1,920
Lt.5E 0l &~10E 018t
50,0002 6+ 12& 3,600
OHHEEs) 33,720
1. |08 Y 1,500,000&x1Z*12& 18,000
2.01&5x4 15,720
IR\ 40,0002 +7F*12& 3,360
LEJIEDES 20,0003 x5« 12& 1,200
Ch. =X 30,0003 x6F =123 2,160
ct.EMAH 70,0003 x6H 123 5,040
OF.A'molIE Xt
110,000 x3ZH » 12 3,960
(E+22+Y) 14,400
1. 5824 14,400
ot s22E 70,0002 108+ 12& 8,400
Lt QIAHRE 50,000 =2« 12& 1,200
CH AL =X R+
70,0003 x4H«12& 3,360
ch AL SN R2=Eoteta
30,0003 x4H 123 1,440
(X224 46,182
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SH: BeHS
M HZYRAZHI(BAHS)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
WEFEEEE
11,3192 #34A12H+ 108+ 123 46,182
(HHI2d S) 52,204
1.3 HSAH 140,000« 11E* 122 18,480
2. BEFJI 337,235,000& +1.2/12 33,724
(H3E=HI) 24,480
1.55 250,0003x 1~ 122 3,000
2.6= 185,000 x2& * 122 4,440
3.7= 180,000& x4~ 123 8,640
4898 175,000 x4 » 122 8,400
=3l 80,228 77,568 2,660
Jl=23H] 80,228 77,568 2,660
201 Ler=23 | 30,548 39,548 0
01 At2teltl 17,736 17,736 0
(er=2Hl) 9,003
1.2AN2E+SHI 300,000 x11H+80% 2,640
2.0HIZHR2AIRES 100,000« 12& 1,200
S.20IMZEH EY ¥ S=(2332 25
) 160, 1503 *6CH*33] 2,883
4. FUSEST2LSSA
26,0002 102 A 260
5012 ALTEN
80,0002 x62+ A 480
LIBJlel= 20,0002 ~1CH+6E 120
701571 YT (SM RA)
25,0003 *2I1+23] 100
8. WA &l 100,000 »2CH*23] 400
9.2ALEX 20,0003 »408} A 800
0. 2dgs4Z2(H0ISTVAE)
10,000& ~ 123 120
(ARZ) 1,797
1LEI| X2 (25482 28
30,0002 *3CH+ 122 1,080
2. 3JIMa0 Rz 59,7003 * 122 mnr
(2g9+9) 600
1=+ 60,0002 x1&*10& 600
(=&tl) 6,336
1.J2gfsdS2s4
8,000& 64 x11E12E 6,336
2 s5=4g4l 21,812 21,812 0
(3322 & MA) 18,088
1.2823 2,338
Jh.get 4302 «1002A * 122 516
Lt. S 2,530 x60A » 122 1,822
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SH: BeHS
T HHSBY|(FLHS)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2. (2ste2 =8
1,000,000 122 12,000
.40t 3 (2332 L8
100,000 * 122 1,200
4. 3 XA+ R (252 1LF)
300,000 23] 600
5. SHIXE 760
HASAHEE= 500,000& «1CH*12] 500
Lt AHS XEA 100,000 *1CH* 1= 100
Ct. &8I EAM==8
60,0003 *1CH*13] 60
ct. 2B REs
100,000& *1CH*13] 100
6. XSS 1,190
IFASHEE=
1,000,000 *1CH*13] 1,000
Lt XS XHAl 130,000 * 1CH*13] 130
Ch &I BA ===
60,0002 *1CH* 1=l 60
(ANEZHIRXIHI) 8,724
AMNAERNES 1,000,000 1,000
2. 2N ARRX 2
33,0003 #2CH=43] 264
3 AZAUMA AR E 4
30,0002 *1CH* 12 360
4. sEIE 7=
100,000 *1CH* 122 1,200
5. 58I +=cltl
100, 000& »2CH*33] 600
6.XFH=XINE HIIEH
25,0003 10 =128 300
202 04| 26,700 26,700
01 =LHOLI 2,400 2,400
1.=LH0dHI 20,0003 » 10 x2H + 123 »50% 2,400
02 XN 24,300 24,300 0
124048l 225,000 ~9F 122 24,300
203 HR=H| 9,080 9,080
01 D[22 HRFa| 5,940 5,940
1012288254 6,600,000 «00f% 5,940
02 3t R S| 440 440 0
LB G R =A] 40,0002 11 440
M FA2SLRFEI 2,700 2,700 0
1L.2A28E R
250,0003 x 122 «00% 2,700
204 ARt AH 1,800 1,800
01 MG AR Y] 1,800 1,800
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od
i’
o
uJ

-

KIO

Hlw

2,660
2,660

HMEE
Ofl &k2h

Ofl &F2H

1,800
1,800
3,100
3,100

700
1,200

900
300

- HyS

- SRA(3) - HIRAEY

S - B

Kl
K
oF
ol

®[
Rr

150,000 x 12 * 122

]

ulr
KR
<J

F

405 Xt

KD
0l

700,000 *1K

2.288 A% 7Y

150,000 +8H

RD
0lo

300,000 & *3JH

300, 000& *1H

KD
0l
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Al & Ol & A Z Ml A
248 20lat LEBIH L JIBSERIHA 1dS ~ =23
SH: Bars
B 0l WA HO| £ (HAE)
e HE=SXNHEHES (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Bh2s 910,769 877,063 33,706
=0l A Ho| ER(FL2s) 140,622 167,444 N26,822
YFAHH=S 140,622 167,444 26,822
.8y N3 117,000 117,000 0
301 EetE NS 117,000 117,000 0
o7 8% -0 - H¥Es243 117,000 117,000 0
.88+ ¥ 234l 117,000
rol=eE 300,000 x25E «12& 90,000
Lt &012 300, 0002 #2524 +25] 15,000
Ch.319 & a4
20,0002 x25EH*23| 12 12,000
FUNXMEEZ )Y 2 3,480 3,480
201 et 3| 3,480 3,480
01 At2t2l] 3,480 3,480
(2er=2Hl) 3,480
1.2 AIME 28
100,000 * 122 +90% 1,080
2. FRURXIME A (292U A!)
25,0002 +8Al 2t 128 2,400
A= X2t 10,142 36,964 N26,822
101 ©1AH| 7,282 7,104 178
M ORINZZ2NSE S 7,282 7,104 178
RS 6,508
o320
78,880 /BAI2H+ 1 +55A1 2hx 128 6,508
2NENRY 282 724
=S EE= 6,508,000 4. 5% 293
L. =0IA2 2SS 6,508,000 *3.545% 231
Chel@)dEE=
231,0002%12.81% 30
ct.IE28e 6,508,0002 *1.75% 114
OLATHESE = 6,508,000 *0.85%% 56
3.A2A &I 50,000 x1H*13] 50
201 er23| 2,860 2,860
01 At2tltl 2,860 2,860
.20 g2 ===
220,0008x 122 2,640
2EANMI I E U=
110,0003 %10 2+23] 220
FUFAHU A SEHOEEAS 10,000 10,000 0
401 AIEHIZ R HYI 10,000 10,000
01 Al&H| 10,000 10,000
1.ot=7 LFAHHEX EX
10,000,000& 10,000
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SA: BlR2S
HZH: TAIDIBHAlAE HH| (B ARS)

SR SAID|EAIE FH| (CHol: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SADIEAIE HUl(EARS) 5,000 5,000 0
SAIDIBEAIE EH| 5,000 5,000 0
L2325 AMAZ2 Fl 5,000 5,000 0
401 AIEHIZ 2018 5,000 5,000 0
01 Al&HI 5,000 5,000 0
1.4=23 ANEE2 sl
5,000,000 * 14| 5,000
HY2AGHI(BAR2S) 765,147 704,619 60,528
el 3A| 684,564 625,903 58,661
oI AH| 684,564 625,903 58,661
101 124d| 684,564 625,903 58,661
01 2= 684,564 625,903 58,661
(83) 454,767
1.98x101Y) 88,457
t.sE 85,054,000 1 85,054
Lt. M4 8| 85,054,000 *4% 3,403
2. 838 (1Y) 366,310
ot.62(1953) 3,943,500 x2F + 128 94,644
LE.732(1058) 2,867,400 x3F x12& 103,227
Ct.8=2(658) 2,208,200 x5+ 12& 132,492
ch.9=2(3s8) 1,821,003 * 18123 21,858
Ot. X I &H| 352,221,000 *4% 14,089
(A0 37,606
1.822¢ 366,310,000 *1/12 30,526
2. 82=EoHZ 7,080
Jb.25E014 130,000 x1H* 123 1,560
Lt.20E 0| &b~25E 0] Bt
110,000& x1H + 122 1,320
Ct. 15501 &~20= 0] CF
80,0003 x 1+ 12& 960
ct.10= 01 &~15= 0] et
60,0003 «2H =123 1,440
Ot.55014~10=0(8t
50,0003 *3E 123 1,800
OHHEE ) 6,240
1.0t85Y 6,240
Jb Ut 40,0002 8+ 12& 3,840
LE.JIEDIS 20,0003 x4F 123 960
Ct. =M At 30,0003 x4H 123 1,440
(S222+) 15,840
1. 5§82 15,840
t.s22=Y 70,0003+ 118+ 123 9,240
Lt QIR 50,0003 +«3F 123 1,800
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SH: Bars
M HZYRAZHI(BA2S)
el i Eg| (Che 2l
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ch ARSI R
70,0002 +42* 102 3,360
INEEEERR=S Y=
30,0008 x4 x 122 1,440
(ZU2R+E) 50,800
BRI,
11,319 #34A1 20+ 118123 50,800
(AHIZE4 5) 56,791
1.3 NS4 140,000 x12E 128 20,160
2. BEFII 366,310,000&*1.2/12 36,631
(R0I=2=E) 36,000
1.]0t=X+2 1,500,000 x2&* 12 36,000
(B2 XHI) 26,520
1.58 250,000« 1H* 122 3,000
2.6 185,000& x2& 123 4,440
3.7= 180,000 32 * 12 6,480
4.895 175,000 x6&* 122 12,600
=38l 80,583 78,716 1,867
JI=23Hl 80,583 78,716 1,867
201 fer= 3| 40,613 39,8% 7
01 At 2t 20,397 19,680 mnr
(Et==2Hl) 11,412
1. 2N 28+ 300,0003 x 12 80% 2,880
2.0HI2HR AIRES
100,000& * 12 1,200
3.21871e1=2 20,0002 x4+ 122 960
4.20IMEH 200,000 x4 CH*32] 2,400
5.d0IM&d 200,000 +82] 1,600
6.FSESE==2L3EN
26,0003 %172t A 442
7.0 BSENLSESTSA
80,0002 72t A 560
8.ZAZX 20,0003 »408} A 800
9.0IEVAIE RS 20,0003 * 12042 240
0.3505= 48 +5&
330,000& %12 330
(dx=z) 1,473
=7 30,0002 122 «1CH 360
2.301FFI(EAE)
33,0002 x 12 «1TH 3%
3. 3IJIHZJI 59,7002 x 12 «1TH 7
(2d=¢) 600
1L.e=8+d 60,0002+ 1 * 10! 600
(=&Htl) 6,912
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SH: Bars
M HZRAZHI(FA2sS
el JI=2 3 (Cte: M
SA - ZE . BR() - HRAR - BES of v G o HIDE2
PP =N
8,000 x641 %128« 123 6,912
02 S3=gHl 20,216 20,216 0
(SZ2SLHA) 13,990
.28 3,810
bt 4303« 1502 * 122 774
Lt SII 2,5302 10024+ 122 3,036
2.8z 600,000 * 122 7,200
3.dotrez 40,0002 122 480
4 83X AR 100,0002 %12 100
5. SHEXY 282
1,000, 0003 *2CH*12] 2,000
6. LI MHSIHAl
130,000 »2CH*12] 260
7 SN EI I B2
70,0002 *x2CH*13] 140
(HA=2Hl) 1,072
T AR A 1,340 %4 £ 4 A1 2Hx502 1,072
(NEZHIRXIHI) 5,154
1LBAAZ 1,000,000& 1,000
2.2AMESD] 100,000 1CH 100
3.0l 50,0002 *3H 150
4. ZRISQIAIAR S X B 4=H]
33,0003 »2CH*42] 264
5. NZUMAAE RXIE2=H]|
30,0002« 12& 360
6. SR H=H
120,000 «2CH+ 1200 & 2,880
7. SHEXY cld]
100,000& »2CH*23] 400
202 04| 27,900 27,900
01 =LHOLI 3,600 3,600
1.=LH0dHI 20,0003 » 10 x3H + 123 »50% 3,600
02 XN 24,300 24,300 0
124048l 225,000 ~9F 122 24,300
203 HR=H| 9.120 9,120
01 V22 HRFA| 5,940 5,940
1012288254 6,600,000 «00f% 5,940
02 3t R S| 480 480 0
LB G R =A] 40,0002 12 480
M FA2HARFAI 2,700 2,700 0
1L.2A28E R
250,0003 x 122 «00% 2,700
204 ARt AH| 1,800 1,800 0
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Al A

Al & o 3
024E T 20lIAF LRSI JIEISEEH D8S ~ 22S
SN BARS
MR 0l MEY HO| C(EAMS)
el HESKEEH 29 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
ESINRIS 998,872 966,425 3,447
F0 M Hol TD(RA3S) 194,742 195,964 N1,222
HY=THEH 2 194,742 195,964 A1,22
£.88 X2 140,400 140,400 0
301 YRIEXZ 140,400 140,400 0
07 S - 0% - BHEEE2AZ 140,400 140,400 0
.88+ 2 254 140,400
oholeeg 300,0002 %30 * 122 108,000
Lh &0 2 300,0002 *30% =23 18,000
Ct.3lo & 4=E
20,0002 *30% =23+ 127 14,400
FORXLAHIR2 DY 29 32,820 35,220 A2,400
201 LEH2 A 32,820 35,220 A2,400
01 At 22l 32,820 35,220 2,400
(LergYI) 1,620
1. FQIRXIMIE 2]
150,0002 * 122 «90% 1,620
(2g+4) 31,200
1. FQIRXIME ZAS 31,200
Db ATRCHA 25,0002 *8AI 2122 2,400
Lb R e A 25,0002 *8AI 2122 2,400
Chotemal 25,0002 *8A| 2+ 122 2,400
ch.JISH= 25,0002 *8AI 2122 2,400
Ok Al 01l 25,0002 *8AI 2122 2,400
Hr. 220l 8t 25,0002 *8A| 2122 2,400
ALCHE WA 25,0002 *8AI 2+ 122 2,400
Oh.Ctzwal(ngeh)
25,0002 *8AI 2122 2,400
JUR-EIDS[ES 25,0002 *8AI 2122 2,400
I QIHZF2) 25,0002 *8AI 2122 2,400
ItE=2# 25,0002 %Al 2+ 122 2,400
EF. 2IH0F2}) 25,0002 +BAI 2+ 128 2,400
O AF2 X 25,0002 *8AI 2122 2,400
AL X2 11,522 10,344 1,178
101 @124t 7,282 7,104 178
04 JIZHH22 IS4 7,282 7,104 178
(SEA B2 08Y) 7,282
1.84 6,508
oh20
78,880 /BAI 2Hx 1 +55A1 2H+ 122 6,508
2ARRIRE BEE 724
JLATHEER 6,507 6002 *0.85%% 56
L. DE2E2 6,507,6002*1.75% 114
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2H: BMsS
B 0l WA HO| £ (HMIE)
el AHISAHE 29 (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
Ch.=2lAsS28= 6,507,600 4. 5% 293
R
6,507,600 *3.545% 231
OIS EE =
230,700 %12.81% 30
3. 22X ALLHH|
50,0002 x1H 13 50
201 er2 3| 3,240 3,240
01 AtR2te|HI 3,240 3,240
.20 g2 M =+=
240,000& * 128 2,880
2.BABIIE U2
180,0003 * 10 223 360
401 Al HIZL 2018 1,000 1,000
01 Al&H| 1,000 1,000
1.5 EA UiHIZ2SUH S4EH SA
1,000,000 %14 1,000
FUHC A SEHEAS 10,000 10,000 0
401 Al HIZ S 0HbI 6,500 0 6,500
01 AlZ2H| 6,500 0 6,500
1.0t= A FXHE X EX
6,500,000 * 14 6,500
405 AHAHE S 3,500 10,000 26,500
01 TR =S F=H 3,500 10,000 26,500
1LESEHN 8558 £X
3,500,000 * 104 2~ 3,500
SADIEAIE HBI(EA3S) 8,300 5,000 3,300
SAIDIEHAIE EHI 8,300 5,000 3,300
2E2F AE= ZH| 5,000 5,000 0
401 AIEHIZ R 0HYI 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.4E25 AlEE 7A2e
5,000,000 14 5,000
AsLEll o2 sEA KRA2 3,300 0 3,300
201 er2 3| 3,300 3,300
02 S3=4gHl 3,300 3,300
1. AJIR= 200,000& * 128 2,400
2.=ER3 75,0003 * 122 900
Y2 A (B A3S) 795,830 765,461 30,369
el 2| 707,416 676,577 30,839
el 2dd| 707,416 676,577 30,839
101 @124H| 707,416 676,577 30,839
01 &2 707,416 676,577 30,839
(22) 493,575




SN HABE
Mo HES A2 (2 MIE)
ohel: ol CERE
RA - BH - SHIEN) - HRAY - BAS ol &t A HIDEZ
1.A8H(1) 88,457
s 85,004,000& 1 85,054
BaysE Fall 85,054,000 *4% 3,403
2.234(129) 405,118
t.62(1988) 3,943,500 2~ 12 94,644
Lt.72(9&83) 2,770,2003+6F 122 199,455
Ct.8=2(683) 2,110,800 «2F~ 122 50,660
et.o=2(4s3) 1,865, 7003 «2H + 122 44,777
OF. M <0 & 389,536, 000 x4% 15,582
(840i2:8) 2,011
R EEL TR
2,867,400 4. 1%+ 123 1,411
2. 82 405,118,000& +1/12 33,760
3. 8203 6,840
J}.201 0| &4-2514 0] 8¢
110,000&x 1+ 12& 1,320
L+ 1501 &~203 01 2t
80,0003 1 * 128 960
Ch. 10501 &~15E 01 2t
60,0002 +3&* 12 2,160
ct.5H0(&~104 02
50,000 x4« 128 2,400
OHiIEE ) 7,560
1S 7,560
I E N 40,0002 6~ 123 2,880
Lt JIEHS 20,0003 x5« 128 1,200
Ch. XM XHH 30,0002 x5 * 12 1,800
ch.SMAH 70,0003 2 * 128 1,680
(S+294g) 17,690
1.E5=22sE 17,880
828R+ 70,0002+ 12F 122 10,080
L. QIRHRE 50,0008 x3& * 122 1,800
CH AR SXIE S22
70,0003 x5 * 122 4,200
ch AR SXIHR+ZIHtS
30,0002 5~ 122 1,800
(zu22+€) 55,418
LARRIZ2E
11,3193 #34A1 2t 12F + 128 55,418
(A4 8) 62,352
1. 23S A 140,000 x 13« 12& 21,840
2. BEF I 405,118,000&1.2/12 40,512
(H22xHl) 28,620
1.5 250,000 x1& 128 3,000

_23_




2H: BMSS
S HY2AAU|(EARS)
chol: ol (19 @)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
2.6 185,000 x2H » 123 4,440
3.72 180,000& x3H » 123 6,480
4.892 175,000 7B+ 122 14,700
[2Z| 88,414 83,834 A4T70
J|=2Z| 88,414 83,834 NA70
201 Ler23H| 45,064 45,064 0
01 AtR2elt] 18,791 18,791 0
(Ler=2dl) 10,703
1. 2A2Z 2| 300,000 * 13 +80% 3,120
2.0BIZ S RAIRES 100,000& «12& 1,200
.FRESESE==EN
26,0003 x5 A 650
4 LS HNESEXR
80,0003 125 A 960
5.40IMEH 140,250 3 #4CH *33] 1,683
6.20IHES 100,000 *3CH*23| 600
7.21&0|12l= 20,0002 *3IH 62 360
8.HAEY 90,0003 x2CH*22] 360
9.2JIHIZ2| 59,7003 «1CH*12& 717
10.SALEX 20,0002 125+ A 240
1180 Xtz 30,0003 =123 «2CH 720
RACIEV=AZ 7, 7003 *1CH*12& a3
(2g+4) 600
1. 9=8a2 60,0003« 1 *10! 600
=ELD) 7,488
1ol=gesss0a
8,000& x6A1* 13K+ 12& 7,488
02 2224l 26,273 26,273 0
(3322 ¥ HAl) 19,777
.28z 4,767
Jb. Bt 430210021+ 123 516
Lt. S| 2,530& 1404+ 12& 4,251
2. 801232 900,000 =12 10,800
34023 130,000& x 123 1,560
4. HoxH AT 300,000& *13] 300
BRSPS 960
It ASXHEERZ 800,000& *1CH*13 800
Lt KtS XA 100,000&*1CH* 12l 100
CtEZJIZ A2
60,000& *1CH*13l 60
6. XSS XX 1,390
b AsSHEEZ
1,200,000 *1CH*13] 1,200
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2H: BMSS
M HZYRAZHI(BA3S)
s Jl=dhl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Lt XS XHAl 130,0002 *1CH* 12 130
Ch &I BA =2 60,000+ 1CH*12 60
(ANEZHIRXIHI) 6,4%
1L.EANHER A E=H] 2,000,000& 2,000
2. 1A 100, 0002 +2CH 200
3. D] 50,000 *2CH 100
4. HZUBSFH 100,000 1CH 100
5. ZIEQIAAY RXI2=H|
33,0002 42| +3CH 3%
6. ISOIAAIAE SX24H]
30,0002 «1CH =122 360
7. SHIXNY RF|
120,000 x1CH* 1204 1,440
g.ssmIE St
100,000 »2CH*33] 600
9.dte)| FXEH|
130,000 = 10CH 1,300
202 04t 32,040 32,040
01 =LHOHI 5,040 5,040
.=l 20,0003 102 3 * 123 *70% 5,040
02 A0 27,000 27,000 0
1.2 H0YI 225,000 x10&~ 128 27,000
203 gF=4| 9,160 9,160
01 D22 HARFA| 5,940 5,940
1.0 228 PRI 6,600,000 *90% 5,940
02 SRt =AY 520 520 0
13N R A 40,0002 * 13 520
MU FAZSLIFAI 2,700 2,700 0
1L.RA2EE RS
250,000 122 x90% 2,700
204 MPo=AH| 1,800 1,800
01 MG HI=HAHH| 1,800 1,800
1LAMIHRFAY 1,800
s 150,000 x 12 * 122 1,800
405 KHoHF S| 350 820 N470
01 ML ESFSHI 350 820 A470
1. 290U 350,000 *1H 350
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Al A

Al = &
248 20lat LEBIH L JIBSERIHA 1dS ~ =23
2H: LS
B 0l HE HO CR(LAE)
el HESKEEH 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Es 947,379 945,340 2,039
=0 N Ho E2(LRE) 195,722 197,944 N2,222
YIS 29 195,722 197,944 N2,222
.8y N 145,080 145,080 0
301 EetE NS 145,080 145,080 0
o7 8% -0 - H¥Es243 145,080 145,080 0
.88+ ¥ 234l 145,080
rol=eE 300,000 *x31E12& 111,600
L. &0z 300,000& «31&*23] 18,600
ChEA=E 20,0003 *31&»22|« 12 14,880
FUMXHHEIZ Y 29 30,420 32,820 A2,400
201 fer= 3| 30,420 32,820 2,400
01 At 2t 30,420 32,820 22,400
(LEH2HHI) 1,620
1.2 AIME 28
150,000& x 122 «90% 1,620
(2d=d) 28,800
1.=2AXME At 28,800
=9
25,0002 *BAI 2t 1) 2% 12 2,400
Lhoteuwal
25,0002 +BAI 2+ 1JH A% 12 2,400
Ch.ctoleA
25,0002 *BAI -+ 1) 2% 12 2,400
ch.RItua
25,0002 *BA| 2+3 - x 12 7,200
O gt=0{uwal
25,0002 +BAI 2+ 1JH A% 12 2,400
bh.& Al
25,0002 *BAI -+ 1) 2% 122 2,400
A FERXF WA
25,0002 *BAI 2t 1) 2% 12 2,400
OF.CIOIHEHA
25,0002 +BAI 2+ 1JH A% 12 2,400
A SHE2Lt A
25,0002 *BAI 2t 1) 2% 12 2,400
X O A
25,0002 *BAI 2t 1) 2% 12 2,400
ARl 2tel 10,222 10,044 178
101 @124H| 7,282 7,104 178
M OIRINZZ2NSE S 7,282 7,104 178
1.SEAL E4 282 7,232
rolEs
78,830/8A1 2t 1B #5541 2H+ 12 6,508
Lt ATHE S 6,508,000 *0.85%% 56
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2H: LS
Hm: 0l ME HO| CO(LAS)
el HESKEEH 29 EEED
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
Ch.NESE 6,508,000&*1.75% 114
ct. =028 6,508,0002 *4. 5% 293
Or=20HAEE 6,508,000 *3.545% 231
HE. S IED | QYEE 231,0002 *12.81% 30
2.24Z& 8| 50,0003 *1H*13] 50
201 2| 2,940 2,940
01 Al2 2218 2,940 2,940
1. 2oy s+2
230,000 123 2,760
2.BMBDICHE A2
180,000 *1JH 2 x13] 180
FUEHMA SEHE A 10,000 10,000 0
401 AIEHIZL 28I 10,000 0 10,000
01 Al&HI 10,000 0 10,000
1. EetEXNYE EX1(S 208 AlY)
10,000,000 14! 10,000
SADIBIAIE FHI(=RS) 5,000 5,000 0
SAIDIEAIE EH| 5,000 5,000 0
L2225 AMEE2 Fl 5,000 5,000 0
401 AIEHIZL 28I 5,000 5,000 0
01 Al&HI 5,000 5,000 0
1.a25 AME28 |RA2el
5,000,000 x 14! 5,000
HY2AEH(RS) 746,657 742,3% 4,261
QIE 2 A 659,916 653,274 6,642
QIR AY| 659,916 653,274 6,642
101 @124l 659,916 653,274 6,642
01 £ 659,916 653,274 6,642
(832) 460,153
1.esSM(1Y) 88,457
.= 85,054,000&x1H 85,054
Lt X4 b 85,054,000 *4% 3,403
2. 838 (12Y) 371,696
oL62(1683) 3,725,9002 x2H x 128 89,422
Lh.72(758) 2,561,302 4122 122,943
Ct.8=(55E) 2,110,8002 4 12& 101,319
et.9=(32E) 1,821, 5003 =2« 12& 43,716
Ot ™M <IH4 bl 357,400,000 *4% 14,29
(&0=) 35,655
1.825Y 371,696,000&1/12 30,975
2. 82 INt= 4,680
Jb.20E 01 &~25E 0] et
110,000& x1H » 123 1,320
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SN LR
A HZYRIZH(=YS)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Lt 156 0141~2040 2t
80,0002 x1&* 12 960
Ct.5E01&~10 012t
50,0008 x4 x 122 2,400
OHH2d+g) 3,120
1.I1E+8 3,120
. B AL 40,0002 x1&* 12 480
L. JIERES 20,0002 x6& 122 1,440
Ch. R XA 30,0002 x1&x 122 360
ch. SMAH 70,0002 x 1 * 122 840
(S22+9) 17,880
[ 17,880
.s=22=+¢ 70,0002 12F 128 10,080
Lt QIAHR S 50,0002 x3& 122 1,800
Ch ARSI R
70,0002 5~ 122 4,200
ch ARSI R+EI=
30,0008 x5~ 122 1,800
(ZU28+E) 55,418
LAIRZRIZ22+E
11,3193 *x34A1 2t 12E « 12 55,418
(AHIZAS) 59,010
1.3 NS4 140,000« 13+ 122 21,840
2. 3&E =0l 371,696,000&+1.2/12 37,170
(22 xHI) 28,680
1.52 250,0003x 12 +12& 3,000
2.68 185,000& 2~ 122 4,440
3.78 180,000 x4 x 12 8,640
4.895 175,000& x62 123 12,600
=3l 86,741 89,122 22,381
Jl=3H] 86,741 89,122 22,381
201 er23| 45,181 45,662 A481
01 At2tltl 20,445 19,946 49
(2et=24l) 10,056
1. 2N2E+SH 300,000 * 132 *80% 3,120
2.0HIZERAIRES 100,000 ~12& 1,200
3.0 M EU 105, 2503 4 L *4 3] 1,684
4.0 100,000& *4LH*12] 400
5.2 ARSI EH 50,0002 «2CH* 13l 100
6.5. ==X 35,0003 #2582 A 875
7.0 HLESSEFSA
91,5003 158 A 1,373
SAMEX 20,0003 »408} A 800
eIsdlelz 20,0002« 1CH =12 240
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2H: LS
M HHSSAH(-BS)
=l Jl=3H| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 3,600 3,600 0
1.=U 08I 20,0002 x 102 x3B x 123 x50% 3,600
02 A0 27,000 27,000 0
1.2 NI 225,000 x10H 123 27,000
203 =4l 9,160 9,160
01 J122geRF=a| 5,940 5,940
1|22 EE=AI 6,600,000 *90% 5,940
02 HRAJAHA R FA| 520 520 0
13RS R FA 40,0008 * 132 520
4 FAZSLRFAI 2,700 2,700 0
1L.2AE2EE R4
250,000 * 122 *90f% 2,700
204 MR AH| 1,800 1,800
01 MM Z R A| 1,800 1,800
1L AMSYER=A 1,800
h.s& 150,000& x1 &= 123 1,800




H = 0l & AL S Al A
0244 2014 LB JIEISEESIH D8s ~ =295
SH IS
B 0l WA HO| CR(AXIE)
&l HF=IHE 29 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
AH1S 1,190,293 1,150,941 39,352
O Y Hol S (AA1S) 174,900 179,910 25,010
HE=SXHH 2 174,900 179,910 A5,010
SEHEXIR 128,360 128,360 0
301 LB F 128,360 128,360 0
07 8% - 01% - BHESSEAZ 128,360 128,360 0
1.8&2Y 2 23| 126,360
ot o= 300,000& x27H +12& 97,200
Lt &S 300,000 *27 H 23| 16,200
Ch.3lol&& Gt
20,0003 *27H #2312 12,960
2.8tE G 25,0003 *40F 23 2,000
FOXNXEEHEZ IH2 S 29,820 25,620 4,200
201 L2 AY| 25,620 25,620 0
01 AtR22eltl 25,620 25,620 0
(eet29d|) 1,620
1.FCIXXIME 23|
150, 000 * 123 *90% 1,620
(2g+4) 24,000
1. =RXIME ZAY 24,000
JbIIRu A 25,0003 x8A| 2tx 12 2,400
L. gHe|eHA 25,0002 %Al 2+ 122 2,400
Ch.oze 25,0003 x8A| 2t+ 12& 2,400
ct. 2HAZXE 25,0002 x8A| 2H+12& 2,400
1] N M| 25,0002 x8A 2H 12 2,400
Ht. =% wal 25,0002 *x8A| 2+ 122 2,400
AL MO A 25,0002 x8A| 2t+ 12& 2,400
OF.3t2LI2tm A
25,0002 x8A| 2H+12& 2,400
A ERuA 25,0002 x8A 2H 12 2,400
X HEF A 25,0002 %Al 2+ 122 2,400
405 XHeHE S| 4,200 4,200
01 AL =ZFSHI 4,200 4,200
1.HEIWA = 2 210,000& *2004 4,200
ALz X2 6,720 15,930 29,210
201 B2 AY| 6,720 6,720 0
01 A=R2teld| 6,720 6,720 0
1.20130 U= 250,000& =12 3,000
2.BMBDICHE 2L | T
130,000& 10 A% 122 1,560
3.820EI B U2
180,000&* 1 A+ 12& 2,160
AU A SEHE ALY 10,000 10,000 0
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SH IS
B 0l WA HO| CR(AXIE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
405 AHaHE = 10,000 5,100 4,900
01 It =S F = 10,000 5,100 4,900
LHE=5d)| X 10,000,000 » 14 10,000
SADIEBAIE HBI(&2A1S) 5,000 5,000 0
SAIDIEHAIE EHI 5,000 5,000 0
2E2F AE= ZH| 5,000 5,000 0
401 AIEHIZ R 0HYI 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.4E25 Al2E sA2e
5,000,000 * 14 5,000
Y 2AGHI (&A1) 1,010,393 966,031 44,362
el 2E | 902,511 860,511 42,000
el E2g| 902,511 860,511 42,000
101 e124d| 902,511 860,511 42,000
01 2= 902,511 860,511 42,000
(22) 605,636
1.9ESM(18) 88,457
s 85,054,000 x1H 85,054
BSSE ) Fal:] 85,054,000 4% 3,403
2. M2E(15Y) 517,179
ote=(2358) 4,183,500 «3H 122 150,606
Lh72(928) 2,770,200 6122 166,212
Ct.82(653) 2,208,200 x6H 122 158,991
ct.9=(283) 1,789,800 x1&* 122 21,478
OF. M IH & 497,287,000 *4% 19,892
(&t0i==d) 53,089
.82+ 517,179,000& *1/12 43,099
2.32EoHts 9,960
Jh.25E0]1 & 130,000 x2& * 122 3,120
L. 150(&~204 012
80,000& =2 * 122 1,920
Ct. 100 &~154 012t
60,0008 x1&* 122 720
ct.5E 0l &~10 012t
50,0002 *7& 122 4,200
OBIEd=g) 8,520
1.t5+¢ 8,520
I BN, 40,0002 x6&* 122 2,880
L RS 30,0002 x4 x 122 1,440
Ct. SMAA 70,000 2 * 122 1,680
ch AU AHA 110,000 x1&* 122 1,320
ct.IIE Jt= 20,0002 x5~ 122 1,200
(S=28+2) 24,000
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SN MRS
A #ZYRAZHI(&2A1S)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
1L.Ex82E 24,000
hS2RE 70,0003+ 152~ 122 12,600
Lt QIR E 50,0008 38 * 122 1,800
CtALRISXS R
70,0003 8 * 122 6.720
ch ARSI R=EIr=
30,0002 46 122 2,880
(2B224Y) 69,273
ISR EERS S
11,3193 %34A1 2tx15EF « 12 69,273
(AHI24 8) 78,598
1. 3AS A 140,000 x 16 * 122 26,880
2. 325l 517,179,000&+1.2/12 51,718
(HZE=HI) 35,160
1.58 250,000 x1E~ 128 3,000
2.6 185,000 32 *12& 6,660
3.7 180,0002 x5~ 122 10,800
4.895 175,000 7 * 122 14,700
(RetFA+9) 28,265
.32 3,943,500 *1H 122 +50f% 23,661
2.832+¢ 47,322 00031 1/12 3,944
3.82+Em=s
110,000 x 12 %123 %50% 660
=&l 107,882 105,520 2,362
JI23Hl 107,882 105,520 2,362
201 2= 56,157 53,840 2,317
01 AtR2t2lt] 22,823 20,506 2,317
(er2%l) 11,210
1. 2N 288 300,0002 x 16 «80% 3,840
2.0HIZHRAIRES 100,000& * 122 1,200
3.0l EREHEH/E™
200,0002 »7CH*23 2,800
4. FUSESTE2EA
26,0003 #1552 A 390
SRUEE RV E = EN
80,0003 * 102 A 800
6.SAEX 20,0003 *602f A 1,200
7.2AE ST EH 100,000 » 1CH*23] 200
8.91&J7|elE/¢3 20,0002 ~1CH+6E 120
9. UESAUHUAIY FXI2=HI
25,0003+ 122 300
0.2+ 15,0002 x23]« 123 360
(gxt=z) 1,797
1LE8=J18x2 30,0002 x3CH* 122 1,080
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SA IS
HE: N2 A (A 1S)
el JI=2 3 (Cte: M
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2. 3Nz Sx= 59,700 * 122 7
(2d=d) 600
.23 60,0002 x1& 10 600
(=&Hl) 9,216
1|2 esgsS2 g
8,000&x641x 16« 123 9,216
2 s5=34l 33,334 33,334 0
(323 % HMAl 28,142
.28 5,070
Jh.t 4303 %1002+ 122 516
Lt. S 2,530 %1502+ 12& 4,554
2. = 1,500,000& * 12& 18,000
3. 40l R2= 200,000& * 128 2,400
4. HetEr2 250,0002 %12 250
5. s L2 6,000 12 72
6. SHIXE 960
I ASKHES R 800,000 *1CH*12] 800
Lt XS XEA 100,000 *1CH*12] 100
Ct. &8I EAM==8
60,0003 *1CH*13] 60
7. XEY=SNRE 1,390
L ASAEER
1,200,000 *1CH*12] 1,200
Lt XS XHAl 130,0003 *1CH*12] 130
Ct. &8I SA==8
60,0003 *1CH*13] 60
(AIEZHISXIH]) 5,192
1LBAAS 1,500,000& 1,500
2. 2N ED] 100,000 *1CH 100
3. LS 100,000 1CH 100
4.2 50,0002 =2CH 100
5.2 S0IAAE ST
33,0002 *43] 132
6. ANEZUAMAAE RA2=H]|
30,0002~ 12& 360
7. SEIXE =il
100,000 *1CH*3=] 300
8.XEH =X ==clt
100,000 *1CH*3=| 300
9.HANY ==l
150,000 *1CH* 122 1,800
10. 9= (SA) SHIH H2E=
100,000 %53 500
202 04t 38,700 38,700
01 =LHNHI 3,600 3,600




==
HE: N2 A (A 1S)
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
1.=U0d8I 20,0003 102 +3 » 12 »50% 3,600
02 A0 35,100 35,100 0
1.2 NI 225,0002 13~ 122 35,100
203 =8| 9,820 9,820
01 J122geR=a| 5,940 5,940
12228 6,600,000 *90% 5,940
02 FRIHAHA =TI 640 640 0
13RS R FA 40,0002 16 640
M EAEgER=A 3,240 3,240 0
1L.2A2EE R4
300,000 122 *90% 3,240
204 AR A 1,800 1,800
01 MM ZSH R A| 1,800 1,800
LARSHRFAY 1,800
h.sE 150,000& x 1= 123 1,800
405 AHaHE S 1,405 1,360 45
01 AL =S F = 1,405 1,360 45
1L.FUSES = 800,000 *1H 800
2. 8 XA 605,000 *1H 605




Al

A

Al = &
248 20lat LEBIH L JIBSERIHA 1dS ~ =23
SA AE
B ZE0IMEHEO R (AMAE)
e HE=SXNHEHES (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
LA 890,591 841,674 48,917
ST S I (AHH2E) 141,162 140,984 178
YFAHH=S 141,162 140,984 178
.8y N3 98,280 98,280
301 EetE NS 98,280 98,280
o7 8% -0 - H¥Es243 98,280 98,280
.88+ ¥ 234l 98,280
rol=eE 300,000 x21E12& 75,600
Lt.&f0iS 300,000 21 +23] 12,600
Ch.2lo&o
20,0002 x212H*23|x 122 10,080
FUNXMEEZ )Y 2 23,220 23,220
201 et 3| 23,220 23,220
01 At2t2l] 23,220 23,220
(2er=2Hl) 1,620
1. QIT X ME S B
150,000 * 122 x90% 1,620
(2e=¢) 21,600
1LFEXNX A ZA=E 21,600
b AZIHA(EZ)
25,0002 *BA| 2H+ 122! 2,400
Lh AZXHA(ZS)
25,0002 +8Al 2t 122 2,400
ChAZ=EA(DF)
25,000 *8Al 2t 128 2,400
2t 28020
05, 0002 #BA| 24+ 12 2,400
OF &R Al (F2H)
25,0002 +8Al 2t 122 2,400
b & W A(0F2)
25,000 *8Al 2t 12 2,400
Ab.2stna 25,0002 x8Al 2t 12 2,400
OF.CIOIHEHA
25,0002 +8Al 2t 122 2,400
Aot 25,0002 +8Al 2t 122 2,400
A= X2t 9,662 9,484 178
101 21AH| 7,282 7,104 178
04 JIZtN2Z2 XS E+ 7,282 7,104 178
(SN F2 228 7,232
1.8= 6,508
e
78,880 /BAI2H+ 1 +55A1 2+ 128 6,508
2NENRY 28= 724
b =RHdEE=
6,508,000 *3.545% 231
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M M
M FOIMKEO|ED(AAE)
&Pl HF=SKNHE2E EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
L SoIRIIQUYBE R
231,0002*12.81% 30
Ct.=2BIH3BER 6,508,000 *4. 5% 293
ct.IBEE= 6,508,000& *1.75% 114
OFAHEE = 6,508,000& *0.85%% 5
3.4 8| 50,0003 *1H 13l 50
201 B2 AY| 2,380 2,380
01 At=R2teld| 2,380 2,380
1. folgg|2e|tid =
180, 00024+ 1224 2,160
2. HARIIQBIALLE
110,000 *1IH 2+23] 220
FUEAO A SEHSE ALY 10,000 10,000 0
405 KHHFSH| 10,000 0 10,000
01 AL =EZFSHI 10,000 0 10,000
1.218tCI E£FI17| 4,000,000& 4,000
2.&=0IRXIEEH S&I12] 6,000,000& 6,000
SADIBAIE HU|(A2H2S) 5,000 5,000 0
SAID|BIAIE FH| 5,000 5,000 0
A22= AMEE2 Fl 5,000 5,000 0
401 AIEHIZ20HHI 5,000 5,000 0
01 Al&HI 5,000 5,000 0
1.4=23 A2 sXlzael
5,000,000& * 14! 5,000
HERHAH|(AAH2S) 744,429 695,690 48,739
ol 2| 666,247 612,786 53,461
olE2AH| 666,247 612,786 53,461
101 2124 d| 666,247 612,786 53,461
01 8= 666,247 612,786 53,461
(82) 469,507
1LASH(1Y) 88,457
h.sE 85,054,000&*1H 85,054
Lt H<IHAH| 85,054,000 *4% 3,403
2. 23 (1Y) 381,050
t.62(1852) 3,874,800 x2H +12& 92,99%
Lt.72(1088) 2,867,400 x5F 123 172,044
Ct.82(628) 2,208,200 3B+ 122 79,496
ct.9=2(3s8) 1,821,500&*1Z 123 21,858
N[ S I Fala] 366,394,000 *4% 14,656
(A0g) 38,355
1.832=¢ 381,050,000&*1/12 31,755
2. 832EoKka 6,600
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SN AZios
M A2 | (A2H2E)
SERRIEESS(T (Shol: &2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
J+. 1501 &~20H 01 2
80,0002 3 * 12 2,880
L+ 1001 &~15E 01 2t
60,0004+ 1 2+ 122 720
Ch.5E101 &~108 018
50,000 x5& * 122 3,000
O =) 6,960
1.0tEE 6,960
It HHS R 40,0002 x5+ 122 2,400
L. OIEMIS 20,0002 x4 x 122 960
B DNE 30,000 x4 * 122 1,440
Ct. =M XA 70,0002 x 18 x 12 840
ch AR XA 110,000 x1&x 122 1,320
(Ex22=E) 15,840
1.E5=225E 15,840
.s28=¢ 70,0002 x11H~12E 9,240
Lt QIEHRE 50,0002 x3& 122 1,800
Ch AR SXI YR+
70,0003 x4 * 128 3,360
ch AR SX RIS
30,000 x4 * 122 1,440
(=222 S) 50,800
LAIRMRIZRSE
11,3192 #34A1 2H+ 118123 50,800
(AHI24S) 58,265
1. 3As4H 140,000 x12E < 12& 20,160
2. 3E=IHl 381,050,000 *1.2/12 38,105
(HE22xHl) 26,520
1.58 250,000 x1E 128 3,000
2.6 185,000& x2&~ 123 4,440
3.7= 180,000 x3&* 122 6,480
4.895 175,000 x62* 122 12,600
=38l 78,182 82,904 N4, 722
JI=23Hl 78,182 82,904 N4 T2
201 fer= 3| 39,102 39,104 N2
01 At 2|l 19,940 19,942 N2
(Et==2Hl) 9,911
1.2A2E 2| 300,0003 x 12 80% 2,880
2.FUSES 228
26,0003 %152t A 390
.oasge=E8S+EXN
81,0003 *118f A 891
4 H0IMERIE EH/EY
200,000 *4LH*42] 3,200




S M
T BHSAY| (M)
Chel: J1=2ZHI EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
5.2 EH/ZEZHRRE
200,000& = 1CH*22] 400
AT EY 200,000& »2LH+*22] 800
LQIBD| 2leE/23 20,000 » 101+ 122 240
DI =RIUDIE EX
750,000 *1CH* 13 750
9.2124 JoISEeErL=
30,0002~ 122 360
(gxtz) 2,517
1.31EE7] 30,0002 <2CH+ 123 720
2. 8= 30,0002 +3CH+ 12 1,080
3.3zl 59,700& =128 7
(2E+¢) 600
1.e=xE 60,0003 x 18 »10! 600
(=&Htl) 6,912
1012828525 4H|
8,000 x6A*x 12 * 12 6,912
02 2324l 19,162 19,162 0
(SS2SLHA) 13,200
1L.eEseSH 4,160
Jh. et 4302 «1002A * 122 516
LE.SII 2,530& %1204+ 122 3,644
A= 500,000& * 128 6,000
Aot 80,000 122 960
4. BZNERSS(HEXE)
50,0003 *22] 100
S Ko N e 120,000 %13 120
6. M=XH LS 200,000& %12 200
7 HENEEE = 1,500
Jt IR 500,000& *1CH*12] 500
Lt EE=Axte
1,000,000« 1CH=13] 1,000
8. XS XHA 80,0002 x2CH*13] 160
(AZHl) 1,728
1T.AIRA 1,350 *4 £ »4A12H+802 1,728
(A& Y= R XIH]) 2,074
1LBANAS 1,200,000 1,200
2. 84S 100,000 »2CH 200
3. &7 50,0003 »1CH 50
4. Z2SQIANAER KX 2
33,0003 *2CH*42] 264
5. NZUAMAIAE B2
30,0003 x1CH= 128 360
(Xt Etl) 2,160
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SN M2
M HZYRAZHI(&2H2S)
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
1L 2AEXNE 7= 130,000& « 12& 1,560
2. 48X =l € KA
100,000 »2CH*32] 600
202 04| 27,900 27,900
01 2LHA b 3,600 3,600
1.=LH0dHI 20,0003 » 10 x3H + 123 »50% 3,600
02 XN 24,300 24,300 0
124048l 225,000 ~9F 122 24,300
203 HE=H] 9.120 9.120
01 V22 HRFa| 5,940 5,940
10122824 6,600, 0002 *90% 5,940
02 3t R F&| 480 480 0
1L IRH RN 40,0002 =12 480
M FA2ELRFAI 2,700 2,700 0
1L.2A28ERFaH
250,000 x 122 x90% 2,700
204 ARt AH| 1,800 1,800
01 MG AR A HH] 1,800 1,800
1LAMSER=AYI 1,800
s 150,000 x1&* 122 1,800
405 AtatE = 260 4,980 N4 T20
01 TR =S FSHI 260 4,980 N4, T20
1. SHAHA 260,000 *1H 260




H = 0l & AL S Al A
0244 2014 LB JIEISEESIH D8s ~ =295
SH: A3
B 0l WA HO| C2(AXIE)
el HESKEEH 29 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
&3S 819,485 824,457 N4,972
0 N Hol S (AFA3E) 133,348 132,280 1,068
HE=SXHH 2 133,348 132,280 1,068
s.5& X 112,320 112,320 0
301 LB F 112,320 112,320 0
07 8% - 01% - BHESSEAZ 112,320 112,320 0
1.8&2Y 2 23| 112,320
ot o= 300,000& x24H x 12& 86,400
Lt &012 300, 0002 x4 %25 14,400
Chalolas g
20,0003 *24H 23|« 12 11,520
ESUN RS YNEE ol 11,028 9,960 1,068
101 21244l 7,280 7,104 176
MU IIRHNZ2EXsEs 7,280 7,104 176
1.83AF 4 12 7,230
Ftoles
78,8802 /BAI 2t x1H*B5A| 2tx 128 6,508
Lt.2H22E 6,508,000 *3.545% 231
Ch ol EIQAUEE 231,000&*12.81% 30
ct.=321H3 6,508,000& *4. 5% 293
ot.NE2d 6,350,000& *1.75% 112
Ht. ATHEE 6,508,000 *0.85%% 56
2. 242 8| 50,0002 *1H*13] 50
201 B2 AY| 3,748 2,8%6 892
01 A=R2teld| 3,748 2,856 892
1.2o1d3b| 2l =+2
213,000& =12 2,556
2ENFIIATO 442
198,660 *1JH A x63 1,192
FUEAHO A SEHHSE ALY 10,000 10,000 0
201 B2 AY| 4,000 10,000 26,000
01 A=R2teld| 4,000 10,000 6,000
1.8tAE 2 4,000,000& 4,000
405 RtaHE S| 6,000 6,000
01 ML SEFHSHI 6,000 6,000
1 HE=XIME L MR E 22
6,000,000& 6,000
SADIEAIE HUI(AHZH3S) 5,000 5,000 0
SAIDIEAIE FH| 5,000 5,000 0
A== AEES FH| 5,000 5,000 0
401 A& HIZLS0HY| 5,000 5,000 0
01 Al&HI 5,000 5,000 0
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SA AAZS
HZH: TAIDIBHAlAE HH|(AHH3S)

SR SAID|EAIE FH| (CHol: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
1.4=23 AE8 sXlz2el
5,000,000& * 14! 5,000
HAERHAH|(AARS) 681,137 687,177 26,040
oIz 2| 596,740 575,306 21,434
ol 2| 596,740 575,306 21,434
101 2124d| 596,740 575,306 21,434
01 8= 59,740 575,306 21,434
(823) 420,604
1.A28H(1Y) 83,457
ts& 85,054,000 1% 85,064
Lt. X I 85,054,000 *4% 3,403
2. 8328 (10Y) 332,147
Jh.6=(1853) 3,874,800 x2H +12& P,9%
L. 7298 8) 2,770,200 *3F + 12& 99,728
Ct.e=2(588) 2,110,800 x5F + 12& 126,648
ch M <IHAH| 319,372,000 *4% 12,775
(A=) 31,99
1. 8324 332,147,000& %1/ 12& 27,679
2. 32FEoH=a 4,320
Jb. 154901 &~20 0| Bt
80,0003 x2F 123 1,920
Lt.5E 0] &~10E0]2¢
50,000 x4« 12& 2,400
OHHEX ) 7,800
1. 9154 7,800
Db B Xt 40,0003 *4F 12& 1,920
Lt WA 30,0003 x4H 123 1,440
Ct.=MAtH 70,0003 «2Y 123 1,680
ch A RHA 110,000 x1H + 122 1,320
at. JIERIS 20,0003 «6F =123 1,440
(E+222Y) 14,040
1.Ex82YH 14,040
t.s2f=g 70,0002 =108+ 12& 8,400
Lt BIRARE 50,0003 «2Z 123 1,200
Ch AL =X g 2+Y
70,0002 x4Z = 12& 3,360
ch AL S XL R=Eoteta
30,0003+ 12& 1,080
(ZU22+Y) 46,182
1.AIZERI2R4E
11,3193 *34A1 210 123 46,182
(AHl24 S) 51,695
1. 3HZAH| 140,0002 x 11123 18,480
2. BE SOt 332,147,000&%1.2/12 33,215
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M MBS
HE: M2 (A3
chol: ol (19 @)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
E=1=ENGT)) 24,420
1.52 250,000 «1H* 123 3,000
2.6= 185,000& x2&~ 123 4,440
3.72 180,000& x3&*12& 6,480
4.8~95 175,000& x5« 122 10,500
=&l 84,397 111,871 N2T 474
Jl=2&Hl 84,397 111,871 N2T 474
201 L= 46,817 44,291 2,526
01 AtR22telbl 23,826 20,064 3,762
(Bt==2HI) 15,453
1. 2AN2E =2 300,000 * 11 +80% 2,640
2.0l 2L PNRES 100, 0002 122 1,200
3.0 E /S & 200, 00021 #4CH+83] 6,400
4.FUSES  22U3EX
35,0003 *152f A 525
5.0 EYNLZESLEN
91,0003 %102 A 910
6.21=0|el=2 20,0002 * 11+ 123 240
72150143 E 150, 000& *1JH+22] 300
8. HAE 150, 000& »2LH+62] 1,800
9.=ALZX 20,0002 +602F A 1,200
10.2H01Stv==81 =2 (20H) 19,8002« 122 238
(a4xt=) 1,437
1L.8==JI18 0= 30,0002 <2CH+ 123 720
2. 8J NS R=
59,7003 x1CH =128 7
(24+¢) 600
1.e=Xg 60,0002 12+ 10! 600
(S2H) 6,3%
IPCEE RS TEEE W
8,000& 64 x11H 128 6,336
02 S22l 22,991 24,227 A1,236
(SS2SLHA) 19,763
1.2E2 4,463
Jh.get 4303 %1002+ 122 516
L. S21 2,5303 %1304~ 128 3,947
2.8J1= 1,000,000& « 122 12,000
3.4ote=z 60,000& « 122 720
4 HITHE 2,580
bASKEER 800,000& #2CH*12] 1,600
Lt XS RHA 130, 000& »2CH*12] 260
Ct. Xt=Xt==2ld] 100,000& »2LH+*32 600




SN 23S
HE: SN2 (A3
cHel: = GO
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
ct. XSXt A2
60,000%2CH*13] 120
(ONE=FNi=[E=DN]s]D] 3,228
1.83AHA= 1,500,000& 1,500
2.7%Hl 804
DI =KX, 60,0002 = 1CH*12& 720
Lt &IIXt 7,000&* 10+ 122 84
3. HEFYSEHI 150, 0002 * 1CH 150
4 A 100, 0002 *1CH 100
5.2=J|®Xl2¢eltl 50,0002 *1CH 50
6. =2012HOI A A RIS T 4]
33,0003 *2CH*43] 264
7. XNZUAA AR X 24|
30,0002+ 128 360
202 04d| 26,700 26,700
01 =WOdbI 2,400 2,400
1.3LHOALI 20,0003 10 »2H « 122 +50% 2,400
02 AN 24,300 24,300 0
1.2 MY 225,0003x9H « 122 24,300
203 R =& 9,080 9,080
01 J| 222G R F=AH| 5,940 5,940
1.J| 22 HRF8| 6,600,000 *90% 5,940
02 BRIHH R F=AH| 440 440 0
1. 33 ERFE| 40,0003+ 115 440
04 FA2ILRFAL 2,700 2,700 0
1.2M2EHRFAYI
250,000 * 122 *90% 2,700
204 AR AY| 1,800 1,800
01 MM AY| 1,800 1,800
1. AMSHRFEI 1,800
s 150,000& 1= » 123 1,800




Al A

CFB SIS - MRAY - BES

Ofl &F2H

HMEE
Ofl &k2h

886,885

890,046

141,598

185,098

141,598

185,098

98,280

98,280

98,280

98,280

300,000& x21F 122
300,000 x21H %23

20,0003 x21F 22|« 122

98,280
98,280
75,600
12,600

10,080

98,280

28,020

28,020

28,020

28,020

o

o

oW e e |

o
EJ

124

150,000 * 122 *90%

25,0002 «8AI2++ 128
25,0003 +8AI 2t 128
25,0002 «8AI 2+ 123

20 (==

25,0002 «8AI2++12&

0 na(S=L)

25,0002 «8AI2H+ 123
25,0002 *8AI2++ 123
25,0002 +8A1 2+ 123
25,0002 «8A12++ 128
25,0002 «8AI2H+ 128
25,0003 +8A| 2t 128
25,0002 «8A1 2+ 123

28,020
1,620

1,620
26,400
26,400

2,400

2,400

2,400

2,400

2,400
2,400
2,400
2,400
2,400
2,400
2,400

28,020

>
el
w

J0

5,298

48,798

ue
T
02

5,298

5,298

>
10
| Ho
o
o=

e
o
=
1=
o
2

o
02
+
B¢
fu

N
0t
>_
rz
J
)
r
-
0%
1
4
i

o

02
4
i
i

226,500 122

210,000 100 2+23]

180,000 «12&

5,298

2,718

420

2,160

5,298

10,000

10,000

10,000

10,000




S A2i4S

Hm: 0l ME HO| CQ(A4S)
el HESKEEH 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
1RAZEXME Qb &XI
10,000,000& * 14 10,000
SADIBIAIE HBI(&2A48) 5,000 5,000 0
SAIDIEHAIE EHI 5,000 5,000 0
2E2F AE= ZH| 5,000 5,000 0
401 Al HIZL S 0HYI 5,000 5,000 0
01 Al&HI 5,000 5,000 0
1.4E25 AlEES 7A2e
5,000,000& 14 5,000
Y2 A G| (L24S) 740,287 699,948 40,339
el 2E | 660,544 619,006 41,538
elIg =3l 660,544 619,006 41,538
101 e124d| 660,544 619,006 41,538
01 2= 660,544 619,006 41,538
(=2) 464,533
1.9ESM(18) 88,457
s 85,004,000 1< 85,054
B SSESY Fals ] 85,054,000 4% 3,403
2. 888 (1Y) 376,076
ot.62(2328) 4,183,500 «2E « 12 100,404
Lh72(=8) 2,561,300 «4H 123 122,943
Ct.82(853) 2,399,900 ~4H 122 115,196
ct.9=(683) 1,922,300 x1&* 122 23,068
OF. M IH & 361,611,000 *4% 14,465
(&0i==d) 37,460
1.82+¢ 376,076,0008 *1/12 31,340
2.32domts 6,120
Jh.258014 130,000 x1&* 122 1,560
L+ 15E0(&~204 012
80,0002 x 1 » 12 960
Cr.5&0la~10 012
50,0002 x6& * 122 3,600
OHHEdS=H) 5,040
1.0t5=¢ 5,040
N BN, 40,0003 x4 *123 1,920
Lk R XA 30,0008 +x3& * 122 1,080
Ct.EMXHH 70,0008 x 18 x 122 840
ek IIEDHS 20,0002 +58 122 1,200
(S=22+E) 18,423
1L.Ex82E 18,423
S22 70,000« 11H =122 9,240
Lt QIR RE 50,0002 x2& 12 1,200




SN AZS
HE: SN2 (A4S
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SN EEEER,
70,0002 x5~ 122 4,200
ch Al SXISR+EIR=
30,0002 x5 * 122 1,800
OF Al E RIS
2,064,820 x1H 8+ 122 1,983
(ZU2R=F) 50,800
LAIRMRIZRSE
11,3193 +34A 2 11E+ 123 50,800
(24 8) 57,768
1. 3As4H| 140,000 x12&«12& 20,160
2. BE=FJHI 376,076,0008+1.2/12 37,608
(H22Z4l) 26,520
1.58 250,000« 1H =122 3,000
2.6 185,000 x2& * 12 4,440
3.72 180,000 x3& * 122 6,480
4.8~958 175,000 x62 * 12 12,600
Jl=23H| 79,743 80,942 A1,199
Jl=23H] 79,743 80,942 A1,199
201 Zet=3h] 39,423 40,622 1,199
01 AtR2te|HI 16,533 17,732 AT1,19
(Et==2Hl) 7,584
1. 2N 28+ 300,0003 x 12 80% 2,880
2. ZEHEY 105,250 *4LH*42] 1,684
3.ZctEeHEH
200,000« 1CH*4 01 =23 1,600
4 ANRAEZANSI | EH
75,0002 *1CH*23] 150
5. 0AMBAESIIEH
75,0002 *1CH*23 150
LIBJelE 35,0002 *1CH* 13/ + 122 420
TUSES L3S
26,0003 *102t A 260
8.OHSHENLSESTEN
80,0003 »48+ A 320
9.70gsrlz 10,000& ~ 123 120
(dxt=) 1,437
1.8 30,0003 *2CH* 122 720
2. 31 Mzl 59,7003 1L =122 mnr
(2g9+¢) 600
1.d=xg 60,0003 x 1 » 10! 600
(=&Htl) 6,912
1|2 esdsSa2 g
8,000 641 * 128 * 122 6,912
2 352484l 22,890 22,890 0
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SN MRS
M HZYRAZHI|(&24S)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
(SS2SLHA) 18,166
.28z 3,65
Jr.agt 4303 %1202+ 122 620
Lt. S 2,5303 %1004+ 128 3,036
2.801g 950,000& * 122 11,400
.otz 200,000 62 1,200
4 XL E 250,000 %12 250
5. H | XIS KAl
130,0003 * 1CH*12] 130
6. &I XSEESEE 1,000,000& «1CH*13] 1,000
7. AR ASIHA 30,0002 «1CH*12 30
8. IS EEE 500,000 *1CH*12] 500
(AIE&HIRXIH]) 4,724
1L.EAMHZ= 1,000,000 1,000
2. HHYSIH| 100, 0002 *2CH 200
3.2AHE ST 100,000 *2CH 200
4. ZRISQIAI AR S X 2 4=H]
33,0002 *2CH*43] 264
5. X 2AA A S X =1
30,000~ 1CH* 122 360
6. I XNSSAE 60,0003 *1CH*13] 60
7. Xt&==clbl 100, 0002 *2LH 3=l 600
8. &YXt =FHI 150,000 *1CH* 12 1,800
9. 8| XS EH| 20,0003~ 1CH =122 240
202 04l 29,400 29,400
01 2LHoIH 2,400 2,400
13O 20,0003 x 102 x2H * 123 »50% 2,400
02 A0 27,000 27,000 0
1. 2NN 225,000 x10H* 123 27,000
203 =4l 9,120 9,120
01 J122ggRFa| 5,940 5,940
1.0 228 PRI 6,600,000 *90% 5,940
02 SRIHAHA =TI 480 480 0
13RS R A 40,0008 * 12% 480
M A2 LRFEI 2,700 2,700 0
1L.2AE2EE R4
250,000 * 122 *90f% 2,700
204 MR AH| 1,800 1,800
01 MM SR 1,800 1,800
=% 150,000& x 12+ 123 1,800




Al A

Al = &
248 20lat LEBIH L JIBSERIHA 1dS ~ =23
SN =E1S
B 0l WA HO| £ (=)
el HESKEEH 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SQ1s 791,493 781,09% 10,397
=0l A Ho| ER(=818) 105,518 110,540 25,022
YIS 29 105,518 110,540 A5,022
.8y N3 70,200 70,200 0
301 EetE NS 70,200 70,200 0
o7 8% -0 - H¥Es243 70,200 70,200 0
1. S¥+=EL eS| 70,200
rol=eE 300,000 x15EF «12& 54,000
Lt.&f0iS 300,000& x 152 =23 9,000
Ct.3lol a4y
20,0002 x 152 *23| 122 7,200
FOAXME 28 24 15,696 10,89 4,800
201 et 3| 15,696 10,89% 4,800
01 At2t2l] 15,696 10,8% 4,800
(2er=2Hl) 1,296
1LFTXIME 2|
120,000 * 122 +90% 1,29
(2e=¢) 14,400
1LFEXXME ZA=E 14,400
It MOl el (St=8t)
25,0002 =8Al 2t 12 2,400
L Aol mal (828t
25,0002 +8Al 2t 122 2,400
Ch.&2lAWA 25,0002 +8Al 2t 128 2,400
et ot2LIDtna(E3)
25,0002 x8Al 2t 12 2,400
OL.SI2LISt WA (ES3)
25,0002 <8Al 2t 123 2,400
Ht.2Jtwal 25,0002 +8Al 2t 12 2,400
A= X2t 9,622 19,444 9,822
101 21AH| 7,282 7,104 178
04 JIZtN2Z2XNS 2= 7,282 7,104 178
(5 A 34 RY) 7,282
1.8 6,508
e
78,880 /BAI2H+ 1 +55A1 2+ 128 6,508
2NENRY 28= 724
JLAHEE = 6,508,000 *0.85%% 56
L. OS2Es 6,508,000& *1.75% 114
Ch.=2AsS28= 6,508,000& *4.5% 293
ch.mUHTEEE
6,508,000 *3.545% 231
O QI EDIRAEEE
231,0002%12.81% 30
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SN =E1S
B 0l WA HO| £ (=)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
3.42H Y] 50,0002 x1H 13 50
201 er23| 2,340 2,340
01 At22te|Hl 2,340 2,340
.20 g2 M ===
170,000& 122 2,040
2 HARII ST HL4E
150,000 22 300
U0 SHOHSE AL 10,000 10,000 0
401 AIZHIYL S OHE 5,000 0 5,000
01 Al&H| 5,000 0 5,000
1.0t SRS JHHDl £X
5,000,000& 5,000
405 AtatsE = 5,000 10,000 /5,000
01 ML ESFSHI 5,000 10,000 25,000
1LFEXNXME EAF idMal Wi
5,000,002 5,000
SADIBAIS BHI(=281S) 5,000 5,000 0
SADIBEAIE F| 5,000 5,000 0
£32 A&2 F 5,000 5,000 0
401 Al&EI L2 CHE] 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1,432 AL |12
5,000,000 * 14 5,000
HY2HAHI(ESE1S) 680,975 665,556 15,419
el 2| 595,486 580,474 15,012
el 2dd| 595,486 580,474 15,012
101 @124H| 595,486 580,474 16,012
01 &2 595,486 580,474 15,012
(=) 419,848
1LesSM0g) 88,457
h.sE 85,054,000 1 85,054
LE M IH&H] 85,064,000 4% 3,403
2. M2E(109) 331,391
ot.62(1983) 3,943,500 2~ 122 94,644
Lh.72(988) 2,770,200 ~3E 122 90,728
Ch.s2(628) 2,208,200 «3E« 12 79,4%
ct.o=(4ss) 1,865,700 x2&* 122 44,777
OF. X0 318,645,000 4% 12,746
(&0i==d) 34,696
1.832+¢ 331,391,000&*1/12 27,616
2. 832 +git=s 7,080
Jh.25301 4 130,000 x1&* 12 1,560




SN =E1S
Hu: EeAAY| (21S)
cHol: ol oy| (Hol: &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Lt.205 0] &~25E 0] et
110,000 x1H» 123 1,320
Lt. 150l &~20E 0] B
80,0003 x1H 123 960
Ct. 10 0] &t~15 0] B¢
60,0002 2% 12 1,440
245110 A~10:40] 8
50,0002 3+ 12& 1,800
(OHHE&E ) 4,680
1.91E5==Y 4,680
It B Xt 40,0003 +3F 123 1,440
Lt JIERS 20,0003 =2« 12& 480
BERY ! PXIE] 30,0003« 12& 1,080
2 SMT 70,0002 224 122 1,680
(s42242) 14,040
1. S4RS4Y 14,040
ot =2 70,0002 x10H + 122 8,400
Lt IR 50,0003 =2« 12& 1,200
CHAIRRI =X R+
70,0003 x4H 123 3,360
ch AL S XL R=Eoteta
30,0002 =3+ 12& 1,080
(2D2242) 6,182
LA R4
11,3193 «34A1 210+ 12F 46,182
(AHIE4 S) 51,620
1. 2HZAH| 140,0002 x11H 123 18,480
2. BE SOt 331,391,000&1.2/12 33,140
(AS2ZHI) 24,420
1.52 250,000 x 15+ 123 3,000
2.6= 185,000& 2H x 122 4,440
3.72 180,000& x3H » 12 6,480
4.892 175,000 x5 122 10,500
234l 85,489 85,082 407
J|=2Z| 85,489 85,082 407
201 B2 AY| 47,909 47,202 707
01 At 2elt] 19,278 18,821 457
(et=2H|) 10,545
1. 2A2Z 2| 300,000 *11H +80% 2,640
2.0BIZ S RAIRES 100,000« 122 1,200
3.21&3012l2 20,0003 x1CH+6E 120
40130143 100,000 *43| 400
5 ZelHEYH 150,000 *4CH*32] 1,800
6.ZelHEY 180,500 & *63| 1,083
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SN =E1S
M HZYRAZH(SE1S)
s JlEdhl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7.0 2SN LSEFEN
91,5002 4624 A 549
8. XUSESE=LI LA
35,0003 x202t A 700
9.2AIE ST EH 60,0003 *2CH*33] 360
10. S AKX 20,0003 508} A 1,000
naAcIEEs =das 7,7003x 122 93
12.8JIASK F=it= 50,0002 122 600
(dx=z) 1,797
1.8 30,000 =20 * 122 720
2.3J138JI 30,0002 «1CH =122 360
3. &I M II 59,7002 1CH* 122 77
(2d=¢) 600
1.3 60,0002 x1&*10& 600
(Sahl) 6,336
L2 esdsSa2aAal
8,000&x64 %118« 123 6,336
02 S3=gHl 28,631 28,381 250
(SB2SLHA) 20,49
1.2ER23 3,449
et 430 <80 * 122 413
Lt. S 2,530 10024+ 123 3,036
2.8J123 8,460
B LSRN 430,000& 123 5,160
L. gAad 275,000& 122 3,300
3.EANIMARS 200,000& * 122 2,400
4.4(6H+Ee3 300,000 x 12 3,600
5. 83 xFARS 200,000& %12 200
6. QXX MEI S AL S K& Y 2 5
= 300,000& %12 300
7T HASFUSSAY LY E L
100,0003 *1JH A+ 18] 100
8. MASFUSSAY A 2]
30,000 *1OH A+ 128 360
9. 2 EXNSNHSHA 130
. aE e 30,000& *1CH*12] 30
Lt XSESAXE
100,000 *1CH*12] 100
10.2SAEEEE 1,500
X 500,000 *1CH*12] 500
Lt RS
1,000,000& *1CH*12] 1,000
(A=2Hl) 4,740
LAIREASH
1,350 %5 ¢ *5AI2++80L 2,700
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SN =E1S
M HZYRAZH(SE1S)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2. AENYRFY 2,040
b I 130,000 x1CH* 12 1,560
Lt SR
40,0002 x1CH* 122 480
(AEEHISXIY]) 3,392
EAAE 2,000,000& 2,000
e 100,000 *3CH 300
SOIS0IA AR 4|
33,0002 #4323 132
4. TI2QUAA AR 4|
30,0002~ 12 360
5. ™ xtek==Clbl 100, 000& »2CH*32] 600
202 04dl 26,700 26,700
01 2L AL 2,400 2,400
130 20,0003 102 x2& » 123 x50% 2,400
02 XN 24,300 24,300 0
1.EA0dH 225,000 x9F ~ 128 24,300
203 HR=H] 9,080 9,080
01 J|2=2gedR=a] 5,940 5,940
10122824 6,600, 000& 90 5,940
02 H3ItaHH R F&| 440 440 0
13 H RN 40,000 11 440
MU FA2SHIFII 2,700 2,700 0
1.2A2EHRFALI
250,000 x 122 x90% 2,700
204 Xt AH| 1,800 1,800
01 MG HI A A 1,800 1,800
1LAMIHRFAY 1,800
s 150,000 x 12 * 12 1,800




H = 0l & AL S Al A
0244 2014 LB JIEISEESIH D8s ~ =295
SN =82S
B ZOIMEHEOCR(2HE)
el HESKEEH 29 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
=823 1,165,302 1,093,346 71,956
FOHNMEHO D (2H2S) 241,990 223,024 18,966
HE=SXHH 2 241,990 223,024 18,966
s BEIA 177,840 177,840 0
301 LB F 177,840 177,840 0
07 8% - 01% - BHESSEAZ 177,840 177,840 0
1.8&2Y 2 23| 177,840
ot o= 300,000& x38H *x 12& 136,800
L. &3 300,000 38 *23| 22,800
Ch.3lol&& Gt
20,0003 *38H 23|« 12 18,240
FOUXXHEHEZ S 2H 28,020 25,620 2,400
201 B2 AY| 28,020 25,620 2,400
01 At 2elt] 28,020 25,620 2,400
(et=2H|) 1,620
1.=2IXXIME 28|
150, 0002 * 123 *90% 1,620
(2944 26,400
1.F0UNXME ZA=E 26,400
IJLCIOIHEHA(X3)
25,0002 x8A 2H 12 2,400
LI.CIOIGHEHA(ES3)
25,0002 x8A| 2H+12& 2,400
CH.COIHESHA(DS)
25,0002 x8A| 2H+12& 2,400
ct.otenal 25,0002 x8A 2H12E 2,400
O IISME 25,0002 x8AI 2H 12 2,400
gt =04 25,0002 x8A| 2+ 12& 2,400
AHDNEE 25,0002 x8A|2t+ 122 2,400
Ot.&2| et 25,0002 x8BA| 2t+ 128 2,400
ARG ER=Y 25,0003 #24A| 2+ % 12E 7,200
ESYNESINEE 13,030 9,564 3,466
101 2124 d| 10,570 7,104 3,466
M IIRINZ2Z2XsSEs 10,570 7,104 3,466
(SEA HA 0182) 10,520
1.20
78,8802 /8AI2Fx1H*B0AI 2+ 12J0 & 9,466
2.ANERRYE BEE 1,054
o HAEEE 9,466,000 *3.545% 336
L SoIE) | A8 E
336,000 *12.81% 44
Ct.=201H93 9,466,000& *4 . 5% 426
ct.NEEE 9,466,000& *1.75% 166
Ob.ATHEE 9,466,000& *0.85%% 82
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SN =Els
B ZOIMEHEOCR(2HE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
3. A2H &I 50,0002 x1H 13 50
201 er23| 2,460 2,460
01 At22te|Hl 2,460 2,460
1L.RZHIHd==2 185,000& * 12 2,220
2 HARIIOE Y442
120,0003 %10 2x23] 240
FUFO A SO AL 10,000 10,000
401 Al HIZL 201 10,000 10,000
01 Al&H| 10,000 10,000
LS USEHLNE €1
10,000,000& » 14 10,000
OrelatEa = Al2el 9,600 9,600
201 er23| 9,600 9,600
01 AtR2t2|HI 4,800 4,800
1.223| 400,000« 12& 4,800
02 s3=ghl 4,800 0 4,800
1. 8012 300,000 * 122 3,600
2.4ot=z 100,000& «12& 1,200
SSUFEAl NFEHS} 3,500 0 3,500
201 Ler=23 | 1,900 1,900
01 At2teltl 1,900 1,900
TLHAYIHIS 1,600,000& 1,600
2,88 5 A28 7Y 300,000& 300
301 22N = 1,600 1,600
11 AALAEIXIE S 1,600 1,600
l.sELESI| A 1,600,000 1,600
SADIBAIEZHI(5828) 5,000 5,000 0
SAIDIBHAIE EH] 5,000 5,000 0
A2=SAEEFH| 5,000 5,000 0
401 Al HIZ S OHbI 5,000 5,000 0
01 AlZ2H| 5,000 5,000 0
1.4=25 AldE |2
5,000,000 *14 5,000
HY2HIHI(BE28) 918,312 865,322 52,990
el 2| 814,875 757,639 57,236
el 2d| 814,875 757,639 57,236
101 @1A4H| 814,875 757,639 57,236
01 2= 814,875 757,639 57,236
(22) 547,501
1L.esSM0g) 88,457
h.s& 85,004,000 *1& 85,04
BpSE ) Fal:] 85,054, 0003 *4% 3,403




SN =Els
M HYRAZHI(SE2S)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2. X8 E(14Y) 459,044
ot.62(2023) 4,008, 1002 2H* 122 96,195
Lt.72(1083) 2,867,400 ~4H 122 137,636
Ch.es(723) 2,305,900 x5« 12& 138,354
ct.o9=2(658) 1,922,300 x3E « 12 69,203
OF. X < IH & 441,388, 0003 *4% 17,65
(&0i==d) 46,64
.82+ 459,044,000 *1/12 38,254
2. 32+gont= 8,400
O}, 201 0| &4-25K4 0] 2
110,000 x2&* 122 2,640
Lt 1001 &~15012¢
60,0002 38 * 122 2,160
Ch.5E101 &~108 018
50,0003 6 * 122 3,600
OBIEd=g) 26,040
1.t5+¢ 8,040
I BN, 40,0002 7+ 122 3,360
LE R AHA 30,0003 x5 * 122 1,800
Ct. S MAA 70,0002 x28 * 122 1,680
ch.IIEDES 20,0002 x5~ 122 1,200
2.20tsX+8 1,500,000 x1&* 122 18,000
(S+22+E) 2,200
1L.Ex82E 22,200
hS2R+E 70,0002 x15EF « 12 12,600
Lt 23R 50,0002 x4« 122 2,400
CtALRISXIY R4
70,0002 6 122 5,040
ch AR SX SRS
30,0002 68 * 122 2,160
(=222 64,655
LAIRMRIZRSE
11,3192 #34AI 2H+ 148+ 123 64,655
(24 8) 72,785
1. 3As4H| 140,000 x16E 12 26,880
2. BEFJtHI 459,044,000 *1.2/12 45,905
(B2 XHI) 36,040
1.58 250,000« 1H* 122 3,000
2.6 185,000& x2& 123 4,440
3.7= 180,000 x5 * 122 10,800
4.895 175,000 x8&* 122 16,800
Jl=23sl 103,437 107,683 N4,246
JI23Hl 103,437 107,683 N4,246
201 fer= 3| 51,667 48,577 3,090




2A: =82S
M HZYRAZHI(SE2S)
el D=3l M)
SA - BB - SA(S) - MRAY - BES ol &b o4 2
01 AlR2telHl 22,821 690
(2et=24l) 13,581
1L 2ANEH+SHI 300,000+ 162 +80% 3,840
2.0BIZHR2ARES 100,000& « 122 1,200
3.0INERIHEY 150,000 x 123 1,800
4. OINEEIEE 216,600 %53 1,083
5. 37| dE= 59,7002« 12 717
6.01ZSYMLSE+EX
80,0002+ 152 A 1,200
7.FUSESE=EL
26,0002 *302 A& 780
8.21&Jlel=e 20,0002 x4 46 480
9.0157|1821/22 96,0002 32 288
10.2A8 S8
80,0002 x2CH* 12t A*43| 640
n.2AEX 20,0002 +402t A 800
12.8%7] Xz 30,0002+ 1CH+ 12 360
BAUSSAUEES 2257 X =44l
75,0002 %43 300
14.A0IEVAlZ 7, 7008+ 122 B
(2g9+¢) 600
1Le=x+d 60,0002 x1& 10 600
(S&hl) 8,640
1|2 esdS2 A
8,000 x6A1x 158 123 8,640
2 s3234| 28,846 2,400
(SSQSLAA) 22,474
1.28g 7,104
I et 4303 *20021x 123 1,032
Lt.SII 2,580 20021+ 123 6,072
A= 1,000,000 122 12,000
Hot=E2 100,000& 122 1,200
4 BFMERGS(BINEZ)
70,0002 *1CH*23] 140
dHINSESE = 750,000 «2CH+12 1,500
IS EANE 75,0002 x2CH* 13 150
HE XS TS KA
130,000& x2CH*13 260
.83 xHArg 120,000 12 120
(A=Hl) 3,156
AR A =S B0 4 £ *BAI2H+70L 1,5%
2. g7 F 130,000& 122 1,560
(A& ZHISXIHI) 3,216
LEMAS 1,500,000& 1,500
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SN =E2S
BH: HNY2AAY|(ZHS)
&elr D=3l (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
HE X F=Clb| 100,000 *2CH*33] 600
3. 2RUEIAAE S X 2 44|
33,000 & *3CH+*43] 3%
4. XZIAAAES X E2=H|
30,000& *12& 360
5,01 NEAFHI SN EH]
180,000 *1CH*23] 360
202 0idl 38,160 36,720 1,440
01 =LHO4b| 5,760 4,320 1,440
1.= L0 ] 20,0002 x 102 x4 =122 x60% 5,760
02 A0l 32,400 32,400 0
1. M| 225,000 x 12123 32,400
203 AR F=&lh| 10,450 18,810 8,360
01 J|22g AR FA| 7,110 7,110 0
1.J| 22 P 2F8H| 7,900,000 x90% 7,110
02 R RFAIL| 640 9,000 A\8,360
1. 830G RF=EH| 40,0002 16 640
R EES L] 2,700 2,700 0
V- T=EE ]
250,000 * 12 x90% 2,700
204 AP AH| 1,800 1,800
01 HMZ R+ AL| 1,800 1,800
1AM SHRFAL 1,800
t.sE 150,000& x1H +12& 1,800
405 Xt S| 1,360 1,776 A416
01 AL =ZFSHI 1,360 1,776 A416
.22y ¢ 680,000 *2CH 1,360




g Al A

e s
F0l N Ho| =2 (HE
AHISNHE 2 %2l)
SA BB SR(BH) - NSAY - B 0l A
1,181,419 1,133, 121 ,298
SN mo| C2(EsE) 194,8% 194,716 178
d=XHEH 29 194,8% 194,716 178
S, 8tE XA 149,760 149,760 0
301 LetENZ 149,760 149,760 0
07 S& - 0| & - BtEE arg 149,760 149,760 0
.88 & 5| 149,760
b oo|lgs4 300,000& x32Y = 122 115,200
L. &3 300,000 *32H *23| 19,200
Ch. 8O &4 4G
20,000 *32Y 23] x 123 15,360
FOUXXHE T2 29 25,620 25,620
201 Let2IH| 25,620 25,620
01 AFR22ld| 25,620 25,620
(2et=EHI) 1,620
1LFIXRIME 2
150,000 * 122 *90% 1,620
(2924) 24,000
1.F0UXIAE 2AL= 24,000
Jb.2tolch A (18
25,0002 x8A| 2tx 12 2,400
Lt 2hoIEh A (281)
25,0002 *8BA| 2tx 128 2,400
Ct.CtEstet=0u
25,0002 *x8A| 2tx 12 2,400
ch. It al(18h)
25,0003 *8A| 2+ 12 2,400
OF. ROt Al (28
25,0002 *8BA| 2tx 128 2,400
Hb. G2 LI m AN (
25,000& *x8A| 2tx 12 2,400
Ab.BI2LIIEm A (
25,0003 x8A| 2tx 12 2,400
Ot.=&D|3 25,0002 *8A| 2tx 128 2,400
PNN=I=amE 25,0002 x8A| 2+ 12& 2,400
A AL AAZHE
25,0002 x8A| 2tx 12 2,400
ALz X2t 9,514 9,336 178
101 Q14| 7,282 7,104 178
M IIZNZ2E2NESES 7,282 7,104 178
(SEA EA 012) 7,282
1.20
78,8803 /8AI 2Ex 1 *55A| 2Hx 1221 & 6,508
2AHEE S 6,508,000 x0.85%% 56
3. 1888 s 6,508,000& *1.75% 114
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2AN: HEE
Ha: 0l HE HO| CR(HHE)
el HESKEEH 29 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
4. =00HZEEZ 6,508,000& *4. 5% 293
5. =20IA42ABE = 6,508,000 *3.545% 231
6.LCIRIRAEEZ
231,000&*12.81% 30
7. SHAZZXH(HIAIRE]) LBtAZLA XY
50,0003 *12l 50
201 B2 AY| 2,232 2,232
01 AtR2telt] 2,232 2,23
1. 2ol 2Rt s+2
161,000& «12& 1,932
2. BNt =2
150,000 *1I1 #2323 300
FUEOO A SEHOHE At 10,000 10,000 0
401 A& HIZL20HHI 10,000 10,000
01 Al&HI 10,000 10,000
1.0t=SE A X EOHED| ZX
10,000,000 & 14 10,000
SADIEAIE HBI(UES) 5,000 5,000 0
SAIDIBEAIE EH| 5,000 5,000 0
A== A2 FHI 5,000 5,000 0
401 AIEHIZL 20 5,000 5,000 0
01 AlEHI 5,000 5,000 0
1.425 AMdE 72
5,000,000& * 14! 5,000
HY2JZH|(UHES) 981,525 933,405 48,120
ol 2| 882,261 826,331 55,930
ol 2| 882,261 826,331 55,930
101 e124d| 882,261 826,331 55,930
01 E= 882,261 826,331 55,930
(23) 583,761
1L.ASH(1Y) 88,457
ts& 85,054,000 1% 85,004
Lt. XH I 85,054,000 *4% 3,403
2. 838 (15Y) 495,304
te2(2158) 4,070,200& x3B +12& 146,528
L. 7295 8) 2,770,200 x4F  12& 132,970
Ct.e=2(588) 2,110,800 x6F + 12& 151,978
ct.9=2(4s8) 1,865,700&x2Z 128 44,777
Of. M <4 476,253,000 *4% 19,051
(MoH) 50,276
1. 8324 495,304,000&4%1/12 41,276
2. 32FEoHza 9,000
Jb.25E0] 4 130,000& 1H + 122 1,560




2A: HEs
HE: HESAAY| (HEE)
Chel: ol CERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
L2010/ &~25E1 018
110,000 x1&* 12 1,320
Lt. 1501 &4~201 0] 8t
80,0002 x1&x 122 960
Ct.10E 01 &~15E 012t
60,0002 x3& * 122 2,160
245110 A~10:40] 8
50,0002 x5~ 12 3,000
O =) 44,160
1.0tEg 8,160
I BN 40,0002 8~ 123 3,840
LE R AHS 30,0002 x4~ 122 1,440
Ct. S XA 70,0002 x2& 123 1,680
ct.IIERHS 20,0002 x5~ 122 1,200
2. F0t5=g 1,500,0002 x2& * 12 36,000
(542242 23,280
1.S4E24g 23,280
S22 70,0002 x16E* 122 13,440
Lt QIR 50,0002 38 122 1,800
ChALRISXIS R
70,000 7 * 122 5,880
ch ARSI R+EI=
30,0002 x6& 123 2,160
(ZU2R+E) 69,273
REIEE =
11,3193 %x34A1 2Hx15E « 12 69,273
(24 8) 76,411
1.3 NS A 140,000 x 16 * 122 26,880
2. 3&=JHl 495,304,000&*1.2/12 49,531
(MZE=HI) 35,100
1.5 250,000« 1H« 122 3,000
2.62 185,000 x3&* 12 6,660
3.78 180,000 x4 x 122 8,640
4.895 175,000& x82 123 16,800
=&l 99,264 107,074 27,810
JI=2&Hl 99,264 107,074 A7,810
201 Ler23 | 46,954 46,954 0
01 At22t2lt] 22,0680 22,060 0
(2et=24l) 11,524
1. 2N 28+ 300,000 * 162 +80% 3,840
2.0 ZERAIRES 100,000& * 122 1,200
.EOIMEH/EE 168, 3003 *5LH*23] 1,683
4.Z4ZglH EY 200,000 *1CH*23 400
5 BAE 88,0002 x2CH*43] 704
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QA S
T BHSSAY|(HES)
&l J1=23l (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
6.FUSES, =2L2SEAN
26,0003 x202 A 520
7.0ABYNLTSLEN
80,0003 158+ A 1,200
LQIBJlel= 20,0003~ 1CH =122 240
RESIIEIERY)
25,0003 #2I1=23] 100
10.SAHEX 20,0003 #2582 A 500
n.edgdssdlz 10,0002« 122 120
2. HESAUHAAMNE S7 FAE2=H]
25,0002~ 12& 300
18.37IM2)| elE= 59,700 * 122 7
(dxt=) 720
.30 A& 30,000 » 122 2CH 720
(2d=¢) 600
IEE RS 60, 000215 124+102 600
(SzH) 9,216
1.0l=gesssaZAY|
8,0003x641 %16« 122 9,216
2 S22l 24,894 24,8%4 0
(S22 & HAl) 19,760
1L.28= 6,710
et 430233002+ 123 1,548
Lt. S 2,530 17024+ 123 5,162
HIANBR 830,00021* 122 9,960
MBI AIRE 80,0002+ 122 960
4. BANELL S (B TIZR)
50,000 *23] 100
S.AgEEg= 1,630
JLHERE 500,000 *1CH*12] 500
Lt.OIZ Xt 130,000 * 1CH*13] 130
ChesEsAXE
1,000,000& *1CH*12] 1,000
7. X E NS IHA 160
B RSP 30,0003 *1CH*12] 30
Lt RS
130,000 = 1CH*13] 130
8. A=
120,000 *2CH*12] 240
(ANEZHIRXIHI) 5,134
1L.EAMH= 1,500,000& 1,500
2.2ANESD] 180, 0003 *2CH 360
3. &= 45,000 +2CH 0
4. ZRISQIAI AR S X B 4=H]
33,0002 »2CH*43] 264
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A UESs
T B ((ES
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
5. XI2AMAIAH R X2 2=H|(2EH)
30,0002 «1CH =12 360
6.Xt&AZHI 1,560
IR =&
130,000 *1CH* 12 1,560
Aef4=clt] 100,000& »2LH+*32 600
8. ZFAISEA & .otk CIYSAMEIE
200,000 * 13| *200 2 400
202 04| 40,140 40,140
01 2L AL 5,040 5,040
13O 20,0003 10 «3F « 12 »7(% 5,040
02 XN 35,100 35,100 0
124048l 225,0002 x13E 123 35,100
203 HR=H] 9,820 9,820
01 J|2=2geR=a] 5,940 5,940
10122824 6,600, 0002 *90% 5,940
02 3t RS &| 640 640 0
1L IRH RN 40,0002 16 640
04 PAE2EERFAH 3,240 3,240 0
1L.2A2EBRFALI
300,000& x 122 x90% 3,240
204 ARt AH 1,800 1,800
01 AMGHR A A 1,800 1,800
[BESEs == Rt Sia] 1,800
s 150,000 x 12 * 122 1,800
405 AtatsE = 550 8,360 AT7,810
01 TR ESFSHI 550 8,360 A7,810
I BH=NMEH A =8| 2
550,000 *14] 550




o o Al

A

SH: AHE
B 0l HE HO CR(ATE)
el HESKEEH 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
aHs 790,016 758,972 31,044
=0 N Ho| SR (AHS) 104,772 100,264 4,508
YIS 29 104,772 100,264 4,508
I=RESPNRE 74,880 74,880 0
301 EetE NS 74,880 74,880 0
o7 8% -0 - H¥Es243 74,880 74,880 0
.88+ ¥ 234l 74,880
rol=eE 300,000 x16E~12& 57,600
Lt.&f0iS 300,000& x 162 =23 9,600
Ct.3lol a4y
20,0003 x 16 +22|« 12 7,680
FUNXMEEZ )Y 2 5,880 3,480 2,400
201 et 3| 5,880 3,480 2,400
01 At2t2l] 5,880 3,480 2,400
(2er=2Hl) 1,080
1LFTXME 2|
100,000 * 122 +90% 1,080
(2e=¢) 4,800
1.=2AXME SAtE 4,800
Jhe2ltua 25,0002 x8Al 2t 12 2,400
Li.creltHAmAl
25,0002 +8Al 2t 123 2,400
ARl 2l 14,012 11,904 2,108
101 @124H| 7,282 7,104 178
04 JIZtN22 XS 2+ 7,282 7,104 178
(STA 32 02Y 7,282
1.2+ 6,508
IR=1G
78,880 /BAI2H*1H+E5A] 2hx 128 6,508
2 NENRY 8= 724
LAHEE = 6,508,000 *0.85%% 56
LlLOEEEE 6,508,000& *1.75% 114
Ct.=2AsS28= 6,508,000 4. 5% 293
ch. 2L EE=
6,508,000 *3.545% 231
OhL=RIEDIRSEEE
231,000 %12.81% 30
3.eeAdHA 50,0002 x1H =13 50
201 er23| 6,730 4,800 1,930
01 At2tltl 6,730 4,800 1,930
.20 g2 ===
265,000 * 122 3,180
2. ot | i e 2
135,000~ 128 1,620
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SN 2Aes
HH: Fol #Y Ho| TR(ACS)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
3.5ARK AU BAHE
150,002 122 1,800
45201 BIIZA +48
30,0002!+13] 130
FOIE0I04 SHOFMY 0,000 10,000 0
IEEEEE] 4,000 0 4,000
13 Sl 4243 4,000 0 4,000
1,740 200l L3 A
4,000,002 4,000
401 A8 L 20HY| 6,000 6,000
01 Al&t] 6.000 6,000
1.5t 2H 41 6,000, 0002 6,000
SAIDIBAIE FHI(BES) 5,000 5,000 0
ADIBEAIE FH] 5,000 5,000 0
ABS AES T 5,000 5,000 0
401 A& HI L2 0HY| 5,000 5,000 0
01 Alt] 5,000 5,000 0
1L.ABS AL |12
5,000,00021x14] 5,000
HS A (AHE) 680,244 653.708 26.5%
e 500,767 564,320 26,433
o1z 2| 500,767 564,320 26,433
101 2124H] 500,767 564,329 26,433
or 24 500,767 564,329 26,438
(=3) 415,353
1.ASH(1Z) 88,457
o 5% 85,064,0002 12 8,054
Lt M IH & 85,054,002 4% 3,403
2. X3 (10%) 326.8%
o623 (1952) 3,943,5002 22+ 122 94,644
L.723(752) 2,561,3002 432+ 122 92,207
C+.83(65%) 2,208, 2002 x4+ 128 105,994
2t.93(252) 1,789,80021 12+ 128 21,478
O X 2 et 314,323, 0002 »4% 12,573
(4012-2) 3,122
1. 8240g 326,896, 00021/ 12 27,242
2. 8242002 5,880
O}.20E10| &4~2514 0] 2
10,0002 12+ 128 1,320
Lt 15E101 420110 8¢
80,0002!+124 128 960
CF.50/&4~100] 8¢
50, 00021562 « 122 3,600
GIFEESER=) 6.120




SH: AHS
M HZRIZH(BHS)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
1.EsE 6,120
N BN, 40,0003 x5« 122 2,400
L JIERDMS 20,0008 x4 x 122 960
Ch. XM AHA 30,000 x3& * 122 1,080
ch. S MAH 70,0002 x28 * 122 1,680
(S+22+8) 14,400
1L.S232sE 14,400
S22+ 70,0002 x10E* 122 8,400
Lt QAR 50,0002 x2& 122 1,200
Ch ARSI R
70,0002 x4 x 122 3,360
ch Al SIS R+EIR=
30,0008 x4 x 122 1,440
(ZU2R+E) 46,182
LAIZRIZ222E
11,319 #34A12H+ 108+ 123 46,182
(&H124 8) 51,170
1.3 NS4 140,000« 11E =122 18,480
2. BEFII 326,896,000& *1.2/12 32,690
(22 xHI) 24,420
1.52 250,0002 1+ 128 3,000
2.68 185,000 x2&* 122 4,440
3.7= 180,000& 32+ 123 6,480
4.895 175,000& x5~ 123 10,500
=3l 89,477 89,379 B
Jl=3H] 89,477 89,379 B
201 er23 | 51,897 51,79 B
01 At2teltl 16,979 16,902 7
(2et=24l) 7,886
1L.2N2E S 300, 0002 112 +80f% 2,640
2.0lHIZERAIRES 100,000& «12& 1,200
3.0l ERIED| EH/E™
141,000& *4LH*32] 1,692
4.2ANESI] B 150,000 »1CH+*32] 450
5.FUUSE S - z2¢3&A
26,0003+ 122t A 312
6.ZElE & SAEA
20,0003 202} A 400
7.0BSEMLSEFSA
95,0002 +82r A 760
elsd|el= 20,0003 *2JH+63 240
9.531¥4 AYUSS A
16,0003 <23 x6H 2 192
(2g9+¢) 600




SH: AHS
M #ReHAY|(ATES)
s Jl=2ghl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
TP 60,0002 12102 600
(SzH) 6,3%
IPICI=ERS e
8,000 x6A*x11&* 12 6,336
(dxz) 2,157
.80 gx= 30,0002 #4CH =122 1,440
2. 3JIMa)| itz 59,7002 128 77
2 S3=gHl 34,918 34,897 21
(3223 & HAl) 29,971
1.28= 3,401
et 43021002 * 122 516
Lt. S 2,530 %9521 x 12 2,885
2.MJ|= 1,500,0002 122 18,000
3.40l+=Ee= 250,000 * 128 3,000
4. SAIARS 250,000 * 122 3,000
5. MSAIEHE MyEE=
100,0003 *1JH A+ 13] 100
6.3t 2L 70,0002 %14 70
7SI 2,400
b ASAEE S (HE )
800,000 *1CH*13 800
LhISIEER (XSS SRE)
1,000,000& *1CH*12] 1,000
B == Pl FaE = =
100,000 * 1CH*23] 200
et XS XHA 10,0002 %2CH*13] 200
WPl
100,000 »1CH*23] 200
(A=2Hl) 423
AR A 1,410 *300L 423
(A EZEEISXIY]) 4,524
FMNAS R 1,000,000& 1,000
2. SHIXERFHI
150,000 x1CH* 122 1,800
3. S+l
100,000 »20H+33] 600
4. HAEHl |22
100,000 #5CH*13] 500
5.2 SOIA AKX E==H]
33,0003 *2CH*43] 264
6. X2 QA A ARS X =]
30,000~ 1CH =122 360
202 04l 26,700 26,700
01 2LHoIH 2,400 2,400
1.=U 08I 20,0003 x 102 x2 * 123 +50% 2,400
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H & 0l & AHS B Ml A

024E T 20lIAF LRSI JIEISEEH D8S ~ 22S
SEEOLS
F0 N HO| T (REE0S)
AHISNHE 2 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
ors 1,552,631 1,576,544 ~23,913
HE Ho| TR2(REHEOFS) 311,002 325,254 A 14,252
Y=XHE 29 311,002 325,254 A 14,252
SHHETIA 262,080 262,080 0
301 YPEHZ 262,080 262,080 0
07 S - 0% - BHEEE2AZ 262,080 262,080 0
.88+ 2 254 262,080
oholeeg 300,0002 *56% * 122 201,600
L. &012 300,0002 *56 % =23 33,600
Ch.alol4g 20,0002 +56% *23|* 128 26,880
FOURXMEIZ2 D2 20,820 20,820
201 LEH2AY| 20,820 20,820
01 At22t2ld] 20,820 20,820
EIEIES=41) 1,620
1. F2UXRIHEH2H|
150,0002 * 1224 x90% 1,620
(2g+4) 19,200
1. FQIRXIMIE 2 A= 19,200
Ot &2 A0 25,0002 *8AI 2122 2,400
Lhotenal 25,0002 *8A| 2122 2,400
ChARXCHA 25,0002 +BAI 2t 128 2,400
2t Jtmal 25,0002 +BAI 2+ 128 2,400
0L B =20 WAl (£3)
25,0002 *8AI 2122 2,400
HE. 20 WA (53)
25,0002 *8AI 2122 2,400
AL 232l Lt Al
25,0002 *8AI 2122 2,400
Oh. 224 25,0002 *8AI 2122 2,400
HALS I 22 17,902 32,354 A14,452
101 @124t 7,282 7,104 178
M IRIM2Z2NSES 7,282 7,104 178
1.SEA B4 o2 7,282
oho1e3
78,880/8AI 2Hx 1 +55A1 2H+ 122 6,508
Lh ATHEE 6,508, 0002 +0.85%% 56
Ch.nEes 6,508,0002*1.75% 114
o203 6,508,0002 *4. 5% 293
0L =20ALSHEZ 6,508, 0002 *3.545% 231
HE LOIED|IQARER
231,0002%12.81% 30
Ab LERA L AR 50,0002 %13 50
201 YEHRAY| 10,620 9,900 720
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FA: PEHX0FS
M =0 WH HO| TR(REHEZ0FS)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 10,620 9,900 720
.20 g2 ===
220,000 +3H + 123 7,920
2EANMI I E U=
120,000 %37 A #23] 720
JANEABDRGHLLE
165,000& x 104 2% 123 1,980
UMM SHOHSE AL 10,200 10,000 200
401 Al HIZ 2018 10,200 10,000 200
01 Al&H| 10,200 10,000 200
1.2 2SI ¢ TV £X
5,100,000 1CH 5,100
2.01sA CCTV £X 5,100,000 1CH 5,100
SADIBIAIE FHI(REHEO0LS) 5,000 5,000 0
SADIBAISE FH] 5,000 5,000 0
£22 NEES T 5,000 5,000 0
401 Al&EI L2 HE] 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1422 AL |12
5,000,000& 14] 5,000
HY2HHHI(PEHE0FS) 1,236,629 1,246,290 N9,661
el 2| 1,096,333 1,092,503 3,830
el 24| 1,096,333 1,092,503 3,830
101 @124H| 1,096,333 1,092,503 3,830
01 &2 1,096,333 1,092,503 3,830
(23) 735,418
1.A8H(18) 88,457
hsE 85,004,000& 1 85,054
LE. M IH&H] 85,054,000 4% 3,403
2. X:2E(20Y) 646,961
ot.62(1983) 3,943,500 <3+ 122 141,966
Lh.72(988) 2,770,200 +7E 128 232,697
Ct.82(623) 2,110,800 «8& «12& 202,637
ct.o2(4ss) 1,865,700 x2E « 12 44,777
OF. X S IH & 622,077,000 4% 24,884
(&0i==d) 66,154
1.832+¢ 646,961,000 1/12 53,914
2. 832+got= 12,240
Jh.25801 2 130,000 x 12 * 122 1,560
L+.20E 01 &~25 012t
110,000 x1&* 122 1,320
Ct. 1501 &~20= 012t
80,0002 38 * 122 2,880
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SN PHEOS
M HAHPALH|(REHE0FS)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ct. 10 0[&~154 012
60,0002 +42 12 2,880
0550/ &4~10 0] 8¢
50,0002 x6& 122 3,600
OHHEd=S) 26,400
1.I1E+8 8,400
. B AL 40,0002 x7&H* 122 3,360
L. JIERES 20,0008 x5 x 122 1,200
Ch. R XA 30,0003 6 * 122 2,160
ch. SMAH 70,000 x2&* 122 1,680
2. 2052 1,500,000 x 12 * 122 18,000
(S+22+9) 30,240
1L.E282E 30,240
h.s28=¢ 70,0002 x20E « 128 16,800
Lt RS 50,000 7 * 122 4,200
CH ARSI R
70,0002 «8&» 122 6,720
ch Al SXIER+EIH=
30,0002 *7& x 122 2,520
(2222 92,364
LAIZRIZ222E
11,3192 #34A1 2208« 123 92,364
(&HI2Y S) 9,977
1.3 HSAH 140,000 x21H* 122 35,280
2. BEFJtI 646,961,000& 1.2/12 64,697
(HZ2E=HI) 45,780
1.55 250,0003x 1 ~12& 3,000
2.68 185,000 x3&* 12 6,660
3.7= 180,000& x7 &= 123 15,120
4898 175,000 x10Z 122 21,000
=3l 140,296 183,787 213,491
Jl=23H] 140,296 183,787 213,491
201 er=23| 76,281 76,280 1
01 At2teltl 36,490 36,489 1
(fer23l) 20,439
1.2AN2E+SHI 300,000 21 80% 5,040
2.0HIZHR2AIRES 100,000« 12& 1,200
JEBHEU/E(HEEAEE)
182, 1002 x10CH*43 7,284
4.0180|2l= 20,0008 %33 122 720
TUSESEEEXN
26,0003 202 A 520
6.0 BSHEMLSEA
86,5003 x202} A 1,730
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FA: PEHX0FS
M HAHPALH|(REHE0FS)
&l J1=23l (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7.SAEX 22,0003 x 1202 A 2,640
8.ZAIMSIIEH 150,000 52 750
9.SADIEU(Z0k22)
150,0002 %12 150
0. 7gst= 7,700 *122] 3
H.RMgsENR(24)
13,000& »20H A+ 122 312
(dx=) 3,35
1.8 30,0002 +6LH* 122 2,160
2. 3J1837] 19,9002 <20 = 12 478
CR=PIV\ =9} 59,7002« 1CH =122 7
(2d=d) 600
1.2=32E 60,0002 x1& 10 600
(=&Hl) 12,096
1.J128fsdS2s4
8,000 x6A 21 * 122 12,09
2 s5=34l 39,791 39,791 0
(B2222 £ HAl 33,773
1.28= 8,273
Jh.t 4303 x2502A * 122 1,290
Lt. S 2,530 %2302+ 12& 6,983
A (2LEE) 1,500,000& * 12& 18,000
doteRs 300,000 «6 1,800
4. B3N RG S (HETE)
60,0003 »1CH*23] 120
5. 83 xdArg
80,000& *1JH2:+12] 80
IS EE= 600,000 *1CH*12] 600
7 REXE (M EER
1,000,000 «1CH*13] 1,000
HE XSS XHA 30,0003 *1CH*13] 30
AE (DX RS XA
130,000& *1CH*13] 130
0. AN BMNE==2
70,0002 x2CH*13] 140
11.od 24 gotzeld
300,000 * 122 3,600
(A EZHISXIH]) 6,018
LEMNAS=AE48I 800,000 800
2.8 LEEH| 50,0002 2CH 100
3.4 7= 150,000 *1CH* 122 1,800
4 SEE=SAXE HII1ESH|
50,0002« 1CH =12 600
5. 8F X #=clbl 100,000 »2CH*32] 600
D= A 2eld] 50,0002 *3CH 150
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FA: PEHX0FS
M B2 A (REHFOFS)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7. 2QUEOIAARSF X 2 =1
33,0002 47 A +43] 528
8. NSO AAIABIS X 24|
30,000 x4+ 122 1,440
202 04| 46,200 46,200
01 =LHOLI 8,400 8,400
1.=LH0dHI 20,0003 * 10 7B 122 +50% 8,400
02 XN 37,800 37,800 0
124048l 225,000 x14F 122 37,800
203 HR=AH] 11,730 11,730
01 D[22 PR FA| 7,110 7,110
1012288 RF4| 7,900,000 *90% 7,110
02 32 JRHH 2= 840 840 0
LB E R =A] 40,0002 21 840
M FA2HLRFEI 3,780 3,780 0
1L.2A28E R4
350,000& x 122 «90% 3,780
204 AR AH 1,800 1,800
01 AHI AR Y| 1,800 1,800
LAHMSH I 1,800
=% 150,000& x 12+ 123 1,800
405 KHaHE SH 4,285 17,777 13,492
01 Tt ESF=HI 4,285 17,777 N13,492
1.22|ZHI0IE 700,000 1K 700
2.2 E 2kt 150,000 * 10H 1,500
3.3/ & IEIE 150,000 *4H 600
4. =LEE 275,000 #50H 1,375
5. NSRS 110,000 *1CH 110

_73_




Al A

M & 2 g
2045 E 200 LRSI JIEISERIN DHS ~ 22
SA: 2ES
HI: FOISH HOTD(AURE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
RS 1,665,090 1,735,286 70,19
FOMY HOTD(A2S) 332,480 437,866 A105,386
HY=XHE 2 332,480 437,866 106,386
S X 271,440 271,440 0
301 YEHEHI 271,440 271,440 0
07 S - 0% - SIEEESB A3 271,440 271,440 0
.83+ Y 25y 271,440
oholeed 300,000 *58% * 128! 208,800
Lt &0 3 300,000 *58% +23| 34,800
Ch.alo@ssg
20,0002 *582 25| 122 27,840
FOURNXIME T20W 2 31,716 23,220 8,4%
201 Yer2d| 31,716 23,220 8,4%
01 AtR22lt| 31.716 23,220 8,4%
(2er=2Hl) 2,916
LFUXIIME 2H(2S)
150, 000! * 122 *90% 1,620
2. FRURRIME 2HH(BEE4A)
120, 000! * 122 *90% 1,29
(2g+%) 28,800
LFEUXRIME LAY 28,800
Jb.ererga 25,0002 +8A| 2122 2,400
Lt.5H2LIt 25,0002 +8AI 2122 2,400
Ch.=280I3 25,0002 +8AI 2122 2,400
et 2250 25,0002 +8AI 2122 2,400
OF.OtRmA(A) 25,0002 8| 2+ 122 2,400
bt Ot A (B) 25,0002 +8AI 2+ 122 2,400
A BFR0i A 25,0002 +8AI 2+ 122 2,400
OF.@3t2ILtm Al
25,0002 +8AI 2122 2,400
Xh.242|22Hl(A)
25,0002 +8AI 2+ 122 2,400
Xt. 22| 2t (B)
25,0002 +8AI 2+ 122 2,400
L.t 25,0002 8| 2122 2,400
Et.Q2lmal 25,0002 +8AI 2122 2,400
HALS R 22 19,324 29,440 10,116
101 12| 7.282 0 7,282
M IRIM22XS2+ 7,282 0 7,282
(SEA & 2524 4 02) 7,282
1.2 78,8802 /BAI 2+ 12 #55A1 2+ 122 6,508
2.ANEER 6,508, 0002 *1%+0.85% 56
3.nEeER 6,508, 0002 *1%*1.75% 114
4.2000122E2 6,508, 0002 *1%*4. 5% 2%
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SN BRS
B ZOIME HOCD(BEE)
el AHISAHE 29 (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
FETEEE]
6,508,000 *12+3.545% 231
6.2 EER
231,000 x12*12.81% 30
7. 24ZB &I 50,0002 x1H =13 50
201 el 12,042 29,440 A17,398
01 At2t2ltl 12,042 29,440 A17,398
RCIE-Er e
180,000 34 2+ 123 6,480
2 BNEINE 42
110,000& #3042+ 122 3,960
32324 sdJsAAcHdr+2
121,000~ 12& 1,452
43524 SINFIBU(SLIIVHRE)
150,000 12 150
TN STHE ALY 10,000 8,000 2,000
405 KHoHFSH| 10,000 0 10,000
01 ML ESFSHI 10,000 0 10,000
1L2E2S SS24 SRYED 44X
5,000,000 * 14 5,000
2. 223 2324 W €70 £X
5,000,000 * 14 5,000
SADIEAIE HEI(ZE2S) 5,000 5,000 0
SAIDIBHAIE EH] 5,000 5,000 0
223 AE= ZH| 5,000 5,000 0
401 AIEHIZL SR THY] 5,000 5,000 0
01 Al 5,000 5,000 0
1.AB2 NE2 sH2e
5,000,000 * 14 5,000
HH2IAH(2E2S) 1,327,610 1,292,420 35,190
el 2| 1,166,772 1,141,538 25,234
el 2d| 1,166,772 1,141,538 25,234
101 21AH| 1,166,772 1,141,538 25,234
01 2= 1,166,772 1,141,538 25,234
(22) 800,143
1L.esM0g) 88,457
s 85,054,000& 18 85,004
BSSE ) Fal:] 85,054, 0002 *4% 3,403
2.XM8E(219) 711,68
t.6=(2588) 4,285,500 4 H 122 205,704
L7295 8) 2,770,2008«6E « 12 199,455
Ct.82(653) 2,208,200 ~8H  12& 211,988
ct.o=(4ss) 1,865,700 x3&* 12 67,166
OF. X< IH & 684,313,000 *4% 27,373
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SN BES
M HYRIZH(ZES)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
(&0i==d) 72,418
1L.HRSRE+E(622053)
4,449,500& %4 . 1%+ 122 2,190
2. 824 711,686,000+ 1/ 122 59,308
3.82==8Hts 10,920
Jh.2580] 2 130,000 x2&* 122 3,120
Lt.20H20(&~25E 012t
110,000 x2&* 122 2,640
C}.10&0] &4~15L 0] 8¢
60,0002 38 * 122 2,160
2}.5140] &~10:0/2
50,0002 x5« 123 3,000
OHEd+g) 9,120
1.0tEg 9,120
I EON; 40,0002 8~ 123 3,840
Lb R AHA 30,000 =2 * 122 720
Ct. S MAS 70,0002 x2& * 12 1,680
ch.IIERHS 20,0002 x12H* 123 2,880
(S+=28+E) 32,040
1L.Ex82E 32,040
hS2R+E 70,0002 x21H 12 17,640
Lt 2IAH R 50,0002 x6& 123 3,600
Ch A S T2
70,0002+ 12 7,560
ch AR SX SRS
30,0009 * 122 3,240
(ZU22+E S) 96,982
LAIRMRIZRSE
11,3192 #34A| 20218« 123 96,982
(AHIEAE) 108,129
1. 3As4H 140,000 x22E « 122 36,960
2. BEFJtI 711,686,000+1.2/ 128 71,169
(B2 XHI) 47,940
1.58 250,000« 1H* 122 3,000
2.6 185,000& x4~ 123 8,880
3.7= 180,000 x6& * 12 12,960
4.895 175,000« 11E =123 23,100
=38l 160,838 150,882 9,9%
JI23Hl 160,838 150,882 9,9%
01 eI 96,518 85,158 11,360
01 At 2|l 38,952 38,592 360
(eet=24l) 21,483
1. 2N 288 300,0003 x22EH 80% 5,280

_76_




SN BES
M HZRIZH(ZES)
el J1=2ddl (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2.0HIZ2HRAIRES
100,000 #1042+ 123 1,200
3.OgH EU/cd™ 182,920 »7LH*62] 7,683
401587 clE 15,0003 x3~ 123 540
5.2187| Y= 120,000 *3I1 23] 720
6.FUSESE==2EN
26,0003 x202 A 520
7.0 LS HESEN 80,0003 *152f A 1,200
8.=AEX 20,0003 902} A 1,800
9.2AIEEI| EY 80,0002 *3CH+*32] 720
10.=AP| EU 120,000 *1CH*62] 720
N EESSAUAAE =R 2=
75,0002 *43] 300
12.=8J] EX 100,000 +82] 800
(dxz) 4,197
1LY siliS2L8H SSHIEX=
300,000 *23] 600
2. 80| X= 30,0008 +50H+ 122 1,800
3.3I1EEI X 30,0003 *3CH* 122 1,080
4.3JIMZ0| eg= 59,7003 * 122 mnr
(2g9+¢) 600
1.E=32g 60,0002 x1& 10 600
(=&Htl) 12,672
1|2 esdsSa2 g
8,000 64! x22H «12& 12,672
02 S5=2g4l 57,566 46,566 11,000
(SS2SLHA) 48,464
1.2823 17,244
Jr.agt 4303 +40021* 122 2,064
Lt.SII 2,5303 %5002+ 128 15,180
2RSS (BAHEE)
2,000,000& ~12& 24,000
GRS (2AELE)
400,000 12& 4,800
4. HeEEAZ 80,0002 %12 80
5. 58I 1,940
T ASKHEE S 750,000 12| *2CH 1,500
Lt 22 RES 65,0002 <22 130
Ch. At XHAl 100,000 * 12| x2CH 200
ch &8I EA=8
55,0002 *12]+2CH 110
6. A2 HES K| 400,000& 12 400
(A=2Hl) 1,200
LARE(SR) 200,000 6 1,200
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SN BRS
T BNSAAY|(B2ES)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
(A EZBISXIH]) 7,902
1LEAAE 850,000 850
2.8 LEE| 200,000& %12 200
3. 2AIEED] 100,000 «3CH 300
4. .80 &= 30,0002 12 360
5. 58I RFMI
200, 0008+ Ch+ 122 2,400
6. IR HIISHHI
60,0002 *1CH* 122 720
7. SEIXEY =il
100,000& »2LH+*32 600
=) S A2l 100,000 +6CH 600
9. 2QSOIAAE ST
33,0002 *6LH*43] 792
10.X2AMAAE FXIE =1
30,000 x3CH =122 1,080
202 04l 50,400 50,400
01 2LHoIH 7,200 7,200
1.=U 08I 20,0002 * 102 x6E x 123 x50% 7,200
02 A0 43,200 43,200 0
1. 2NN 225,000 x16H 122 43,200
203 =4l 1,770 1,770
01 D122 ARFA| 7,110 7,110
1.0 228 YR8 7,900, 000%90% 7,110
02 HAJMAHA 2| 880 880 0
13N R A 40,0008 x22%H 880
M A2 LRFEI 3,780 3,780 0
1L.2A28E R4
350,000 * 122 *90f% 3,780
204 MR AH| 1,800 1,800
01 MM SR 1,800 1,800
[k == Eaataial 1,800
h.s& 150,000& x 1= 123 1,800
405 AHaHE = 350 1,754 A1,404
01 ML ESF SHI 350 1,754 1,404
1.0234E AHY 350,000 *1CH 350
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Al A

| &€ = &
248 20lat LEBIH L JIBSERIHA 1dS ~ =23
A HE1IS
M =0 MY Ho T2(HE1S)
el HESKEEH 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SFSREES 1,126,766 1,075,424 51,342
=0l A Ho| ER2(EHE1S) 192,880 190,600 2,280
YIS 29 192,880 190,600 2,280
SHEAZE 149,760 145,080 4,680
301 EetE NS 149,760 145,080 4,680
o7 8% -0 - H¥Es243 149,760 145,080 4,680
.88+ ¥ 234l 149,760
rol=eE 300,000 x32&E «12& 115,200
L. &0z 300,000 x32H #2353 19,200
Ch.2lo&o
20,0002 x32EH*23| 12 15,360
FUAXMEEZ =S 30,420 32,820 2,400
201 et 3| 30,420 32,820 2,400
01 At2t2l] 30,420 32,820 22,400
(2er=2Hl) 1,620
1.2 A B =1
150,000 * 122 x90% 1,620
(2e=¢) 28,800
1LFEXNX A ZA=E 28,800
b HAATIX(ET)
25,0002 =8Al 2t 12 2,400
Lh & 7na 25,0002 *8A| 2H+ 122 2,400
ChE=SAMlwa
25,0002 +8Al 2t 128 2,400
ch.aSAM0lua
25,0002 x8Al 2t 12 2,400
O JISHZmA
25,0002 <8Al 2t 123 2,400
bt OFIEI R WA(EZ)
25,0002 +8Al 2t 128 2,400
A ORIE R NA(EE)
25,0002 x8Al 2t 12 2,400
Ob HAAZIX(ZEZ)
25,0002 +8Al 2t 122 2,400
Xt JIEt WAl (Z22)
25,000 +8Al 2t 128 2,400
X+ JIEt N A(E2)
25,0002 x8Al 2t 12 2,400
Jt.2¢el et 25,0003 x8AI2H+ 123 2,400
Et.23tellt 25,0002 +8Al 2t 122 2,400
A= X2t 2,700 2,700 0
201 ger=3| 2,700 2,700
01 AtR2te|H] 2,700 2,700
1.ReEd2Ae =
200,000 * 122 2,400
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2A:

SFSRES

M =0 MY Ho T2(HE1S)
el HESKEEH 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2 ANSEEANB A 42
150, 0003 *17H 2:+23] 300
FUHC A SEHEAS 10,000 10,000 0
401 AIEHIX R0 10,000 7,000 3,000
01 A28l 10,000 7,000 3,000
1.082 ot=E 2 | &X
10,000,000& 10,000
SADIBAIE BHI(BHE1S) 5,000 5,000 0
SAIDIEIAIE EHI 5,000 5,000 0
A== ANES EHl 5,000 5,000 0
401 AlEHIZ S 0HbI 5,000 5,000 0
01 AlZH| 5,000 5,000 0
1.AE25 Ald=E 7Al2c
5,000,000 * 14 5,000
Y2 AU (EHE1S) 928,886 879,824 49,062
el 2| 833,397 784,665 48,732
el 2d| 833,397 784,665 48,732
101 @124H| 833,397 784,665 48,732
01 &2 833,397 784,665 48,732
(=) 551,644
1L.esM0g) 88,457
hsE 85,004,000 1 85,054
Lt XL IH & 85,054,000 4% 3,403
2. X2 E(14Y) 463,187
te2(1783) 3,802,400 «2H 122 91,258
Lt.72(10&3) 2,867,400 5H 122 172,044
the=2(728) 2,305,900 x5« 12 138,354
ct.9=2(8%8) 1,821,500 x2&* 122 43,716
OF. X0 445,372,000 *4% 17,815
(Ho=¢) 44,839
1.832+¢ 463,187,000 *1/12 38,599
2. 832+got= 6,240
J+.15H01&~2040] 2
80,0008 x2& x 12 1,920
Lt. 1001 &~15012¢
60,0002 x1& x 122 720
Ct.5&0(&~1040] 2
50,0002 68 122 3,600
OHEd+g) 47,040
1.0tE=g 11,040
I N, 40,0002 x8&* 12 3,840
LE R AHA 30,0002 x4 x 122 1,440
Ct. S MAH 70,0002 %3 x 122 2,520
ch AR XA 110,000 x1&* 122 1,320
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SM: BEIS
M HZYRAZHI(BHE1S)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OF. JIERIS 20,0002 x8& 123 1,920
2. 507G 1,500,000& x2& =122 36,000
(S+22+9) 20,760
1.5=225E 20,760
h.s28=¢ 70,0002 x14E 12 11,760
Lt 2IAAR 50,0002 x3& 123 1,800
Ch AR SXIER+E
70,0002 6 122 5,040
ch AR SX RIS
30,000 6 * 122 2,160
(ZU2R=F) 64,655
LAIZRIZ2R2E
11,3192 #34A1 2H+ 148123 64,655
(24 8) 71,519
1. 3As4H| 140,000 x15E «12& 25,200
2. BE=FJtHI 463,187 ,000&*1.2/12 46,319
(HE2E=HI) 32,940
1.58 250,000« 1H* 122 3,000
2.6 185,000 x2& * 12 4,440
3.72 180,000 x5 * 122 10,800
4.8~958 175,0008 7+ 123 14,700
Jl=23H 95,489 95,159 330
Jl23H] 95,489 95,159 330
201 er2 3| 47,649 45,849 1,800
01 AtR2t2|HI 22,309 22,309 0
(Et==2Hl) 13,069
1. 2N 28+ 300,000 x 15 80% 3,600
2.0HI 2SR AR ESH]
100,000& ~ 12 1,200
.EEHEH/E82gHI
202,200 +50H*33] 3,033
4. ZAESIEH P
150,000 »20H *33] 900
5.e187|el=2-e|
16,0002 «20« 122 384
6.0 2SN LS S
86,5003 * 128t A 1,038
7. FUSSSE=2L=sEX7EH
26,0003 248} A 624
8. SALEX 20,0003 408} A 800
AIISRE 30,000 =20 =128 720
10.A0IEVAIEZ 4,400+ 123 33
N.3IJIHa0| eEg= 59,700& * 122 mnr
(2g9+9) 600
1.e=x+d 60,0002 x1& 10 600
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A HE1IS
B BHSS AR IS)
&elr D=3l (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EEED 8,640
1.0l=gesssaZAY|
8,0003x641x15& x 122 8,640
02 S3=gHl 25,340 23,540 1,800
(SS2SLHA) 20,784
1.2823 9,624
bt 4303 %1002 x 122 516
Lt. S 2,5302 30024 123 9,108
2.dotrEes 60,0002 «12& 720
.81 700,000 * 122 8,400
4.3 xHAE 170,000& %12 170
5. 3EHMAUQIHIAAMNES
15,0003 x 122 180
HINHEE = 470,000 «1CH*12] 470
7.XFEEANNSEEE
1,000,000 *1CH*12] 1,000
8. AHHXHHA=Z 60,0002 *1CH* 1=l 60
9. IS NHSIHA 30,0002 *1CH* 1=l 30
10. XSS XS NHSAHA
130,0003 * 1CH*13] 130
(A EEHISXIY]) 4,5%
1LEMNHZ 1,000,000& 1,000
2.2AIHED] 200,000 *1CH 200
3.8 LS| 100,000 *1CH 100
4.2==7] 50,0002 «2CH 100
5. Z2IEQIAAE 33,0003 *3CH*43] 3%
6. A2 QIAAIAE 30,0002 *1CH =12 360
7. ISR FY 150,000 x1CH* 122 1,800
8. &Y Xt&=+=ClHl 100,000 »2CH*32] 600
202 04| 36,000 36,000
01 =LHO LI 3,600 3,600
1. =3O 20,0003 102 +3& » 12 %50% 3,600
02 A0 32,400 32,400 0
12408l 225,000« 12123 32,400
203 HF=AH] 9,240 9,240
01 J[2=2EHRFA| 5,940 5,940
1012288248 6,600,000 *90% 5,940
02 HRAIMAHA R S| 600 600 0
13RS R A 40,0002 x15H 600
M EA2HER=AH 2,700 2,700 0
1L.2A28E R4
250,000 * 122 *90% 2,700
204 AR A 1,800 1,800 0
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HMEE
Ofl &k2h

1,800

2,270
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H & 0l & AF & & Al A
2024E T 20ilAF LBHE|H IIEIEEE N DESE ~ RS
2M: EA2S
HIM: =0l A Mol CR(EHAH2S)
el HESKEEH 29 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Ei&2s 1,143,470 1,153,239 9,769
Z0l A MO CR(EHH2S) 224,254 218,376 5,878
HYSTHE 29 204,254 218,376 5,878
SO 173,160 173,160 0
301 LBtE XS 173,160 173,160 0
07 SE - 01% - SHESsSEAS 173,160 173,160 0
[R=pSE=g=lE-3=%]] 173,160
o=y 300,0002 *37 4+ 12& 133,200
BP0 300,0002+37 & 23] 22,200
Ch3lo &4y
20,0002 x37% %25« 122 17,760
FONXMEHIZ Y 29 25,620 25,620
201 LBt A 25,620 25,620
01 At 2t21H] 25,620 25,620
(Let2H|) 1,620
1. FRIRRIHE 29|
150, 0002 * 122 *90% 1,620
(2Y949) 24,000
1.Z0IRIRIME AL ¢ 24,000
Ot EfRmAl 25,0002 +8A| 2 128 2,400
LhEHAATX(X2)
25,0002 *8A| 2H+ 122 2,400
CHHAATIX(EZ)
25,0002 +8A| 2+ 122 2,400
2HAATX(DZ)
25,0002 +8A| 2 128 2,400
OF. QItmAN (2 2018t
25,0002 +8A| 2H+ 122 2,400
Bt @It w Al (I @It
25,0002 +8A| 2H+ 122 2,400
AHAEY R DA
25,0002 +8A| 2 128 2,400
Ot JtQmA! 25,0002 x8A 21+ 122 2,400
Xt 00124 25,0002 +8A| 2H+ 122 2,400
t.nNe 25,0002 +8A| 2+ 122 2,400
HAF S22 15,474 9,5% 5,878
101 Q1244] 7,282 7.104 178
M IIH2ZERSES 7,282 7.104 178
(SHEAF HA 012l 7,282
1.2 78,8802 /8AI 2tx 12 x55A1 2+ 128 6,508
2.1828E 6,508,000 *1.75% 114
3ANEEE 6,508,000 %0.85%% 56
4.20003EE2 6,508,000 *4. 5% 293
5. 20IAYLER 6,508,000 %3.545% 231
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SN EHEeS
HE: R0l HH Ho| TD(EHH2S)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
6.- QYRS
231,0002112.81% 20
7. 208122 1R 50,0008 +1] 50
201 Ler2 | 3,69 2,492 1,200
01 A2l 3.692 2,492 1,200
(POIH| 22l 266,000 122 3.192
2EAED| OHEE 250,00021x23] 500
401 A& 6L 20HY| 4,500 4,500
01 Al&t] 4,500 4,500
R EE=EEEY 4,500,000 1l 4,500
OO0 SHHIANL 10,000 10,000 0
401 A8 2 2 CH| 4,900 6,000 A1,100
01 Al&t] 4,900 6,000 A1,100
1420 RHSI|IYX SesE 21
2,450,002 <224 £ 4,900
405 T S 5,100 4,000 1,100
PEEEEET 5,100 4,000 1,100
1,420 SEEI| Y| 01SA TV &1 Al
5,100,002 144 5,100
SADIBAIE FHI(BfX2S) 5,000 5,000 0
SADIBAIE | 5,000 5,000 0
ABS AES FH) 5,000 5,000 0
401 A& HIZSTHY 5,000 5,000 0
01 Al&H] 5,000 5,000 0
1L.ABS ALE RT22
5,000,00021x14] 5,000
HH2HAHI (B H25) 914,216 929,863 15,647
EEET 817,640 833,287 15,647
T 817,640 833,287 15,647
101 Q124H] 817,640 833,287 15,647
o1 24 817,640 833,287 16,647
(23) 569,208
1Le=H () 88,457
oS 85,054,00021%12 85,054
Lt M IH & 85,054, 000! x4% 3,408
2. X3 (15%) 480,751
o} .62(2352) 4,183, 50021532+ 122 160,606
Lt.72(63 =) 2,455,002 +4 2+ 122 117,840
C+83(55%) 2,110, 80021552+ 122 126,648
2+.93(45%) 1,865, 70024324 1228 67,166
OF X 24t 462,260,002 4% 18,491
(&012) 47,863
1. 824 480,751,00021x1/12 40,063
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© HN2s
;. HNERHAH| (B E2S)

[

oo
- ol
. —

eada]

[0

S A - BRI - NRA - BES of e A
2. 32 +git=s 7,800
Jh.25800 2 130,000 x2&* 122 3.120
L+.20E 01 &~25 012t
110,000& x 12+ 123 1,320
Ct. 15 0[&~204 012t
80,000211% 122 960
DF.54501 &1~10L10]2¢
50,0002 x4« 122 2,400
O S=H) 21,240
1.01EE 3,240
I BN 40,0002 x3& * 122 1,440
LE.JIEDFS 20,0002 +6E* 122 1,440
Ch. R XA 30,0008 x1&x 122 360
2.=20I58 ¢ 1,500,000 x1E 128 18,000
(=222 69,273
LAIZRIZ222E
11,3192 #34A1 2H+ 158 <123 69,273
(A4 8) 74,956
1.3 HSAH 40,0002 x16E 128 26,880
2. BEFJtI 480,751,000 1.2/ 122 48,076
(HZ2E=HI) 35,100
1.55 250,000« 1 ~12& 3,000
2.6= 185,000 x3&* 12 6,660
3.7= 180,000& x4~ 123 8,640
4.895 175,000 x8& * 122 16,800
=3l 96,576 9,576 0
Jl=2&Hl 96,576 9,576 0
201 Ler=23| 47,756 47,756 0
01 At2teltl 24,294 24,204 0
(fer23l) 13,041
1.24AN2E S 300,000 x 16 *80% 3,840
2.0l ERIBHEH/EY
185,150 & *4LH*42] 2,483
3.2180|e1=2 20,0003 *3H = 1200 & 720
401350 2AHH| 100,000 <22 200
5. 2AIMSEIIEH 180,000 » 1CH*62] 1,080
.FpSES==LsEXN
26,0003 302 A 780
7.02SENLSEN
87,0003 x208 A 1,740
8.2AIEX 20,0003 #4082 A 800
9.0z RAIRES 100,000 »12& 1,200
10.CIAgessdz
16,5002« 104~ 12 198
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2A:

Ei&2S

T BB (HLS)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
(dxt=) 1,437
1L.8J18x8 30,0008 «2CH* 122 720
2. 3N S X2
59,7003 *1CH* 122 mnr
(2g9+¢) 600
(=R 60,0002 12102 600
(SzH) 9,216
IPEEE RS TEE E W
8,000 x6A!*x 162 * 12 9,216
2 S52g4l 23,462 23,462 0
(SS2SLAA) 18,574
1.98= 7,104
Jh.get 4303 %2002 * 122 1,032
Lt. S 2,5303 %2002~ 128 6,072
2. MJ|= 700,000 * 122 8,400
3.uoteERs 70,000 * 122 840
4 33txPrrrm 200,000 22 400
5. SHEXHZEE
550,000 *1CH*12] 550
SHEAXESEAME 60,0003 *1CH*13] 60
7. SIS XS A
30,0002 *1CH* 1=l 30
B.UASHEXNLEER
1,000,000& *1CH*12] 1,000
9.9 5SS HAR
60,0003 *1CH*13] 60
10. X ESS KRS ASRHA
130,000& *1CH*13] 130
(ANEZHIRXIHI) 4,888
1LBAAS 950,000& 950
2. HHLSIH 100,000& *14] 100
3.2AHE ST 160,000 «1CH 150
4 HITVSERFH 150,000 *1CH* 12 1,800
5. &y xte&k==Clbl 100,000 *2LH 3= 600
6.2==D0| - HI=J| Rl - FFUI
100,000 *4CH 400
7. 2QUEOIAARSF
33,0003 *4CH*43] 528
8. AZ2olAal(Z2E 22l ) Al AE
30,000 *1CH* 122 360
202 04| 37,200 37,200
01 =LHOLI 4,800 4,800
1.=LH0dHI 20,0003 * 10 x4 H + 123 »50% 4,800
02 XN 32,400 32,400 0
124048l 225,0008 x 128« 12& 32,400
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Al A

=H O
0244 2014 LB JIEISEESIH D8s ~ =295
SN PUS
B =0l HE HO| CR(PYUE)
el HESKEEH 29 (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 1,330,397 1,275,969 54,428
FO Y Hol S (PYS) 268,282 251,144 17,138
HE=SXHH 2 268,282 251,144 17,138
s.5& X 201,240 205,920 A4,680
301 LB F 201,240 205,920 A4,680
07 8% -01% - H&as2a 201,240 205,920 24,680
1.8&2Y 2 23| 201,240
ot o= 300,000& #43H x 12& 154,800
Lt &S 300,000 *43H +23| 25,800
Ch.319 & a4
20,0003 #43H 23|« 12 20,640
FOUXXHEHEZ S 2H 25,620 25,620
201 B2 AY| 25,620 25,620
01 At 2elt] 25,620 25,620
(et=2H|) 1,620
1. FCXXMEH 22|
150, 0002 * 123 *90% 1,620
(2944 24,000
1.F0UNXAEHZAE 24,000
JbHAALX(ZZ)
25,0002 x8A 2H 12 2,400
LhHAAIR(EZ)
25,0002 x8A| 2H+12& 2,400
CHHAAIIX(DZ)
25,0002 x8A| 2H+12& 2,400
ch.CIOIHEHA(ZS)
25,0003 x8A| 2tx 12 2,400
OHCHOIHEHA(EZ)
25,0002 x8A| 2+ 12& 2,400
Hh. It al(=3)
25,0002 x8A| 2H+12& 2,400
AN 2Ita(EZ)
25,0002 x8A 2H 12 2,400
Ot.Jtual 25,0002 *x8A| 2+ 122 2,400
A =E013 25,0002 x8A|2t+12& 2,400
Kb AHERT R EHA
25,0002 x8A| 2H+ 12 2,400
HAS A 22| 12,422 9,604 2,818
101 214 d| 7,282 7,104 178
M IIRIZ2EXSEs 7,282 7,104 178
(SHA o182) 7,282
1.20 78,8802 /BAI 2t *1H*B5A| 2h+ 128 6,508
2 NMEE = 6,508,000 *0.85%% 56
3. NERER 6,508,000& *1.75% 114
4. 300HZEEZ 6,508,000& *4. 5% 293
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of
i’
oF
uJ

-

KIO

Hlw

2,640
2,640
10,000
10,000
19,000
15,000
15,000
4,000
4,000

37,290
36,482
36,482
36,482
36,482

HMEE
Ofl &k2h

2,500
2,500

10,000

5,000
5,000
5,000
5,000
5,000

1,019,825

908,385

908,385

908,385
908,385

Ofl &F2H

231
5,140
5,140
2,400

100
2,640

10,000
10,000
10,000
10,000
19,000
15,000
15,000
15,000
4,000
4,000
4,000
5,000
5,000
5,000
5,000
5,000

5,000
1,067,115

944,867

88,457

85,054

944,867
944,867
944,867
638,936

3,403
550,479
152,489

206,453

- SRA(3) - HIRAEY

- ESS

S - B

3

3

50,000 *2
220,000& 128

231,000 %12.81%

200,000 122
10,000,000& =14
15,000,000& * 14!

6,508,000 *3.545%
50,0003 *1H*1

b 20l E2H

t2

H

f=1

01 AtR2telbl

03

=<
0
Uk

10f
o

4,000,000 * 14!

ANEE EHl
401 AIEHIZ 20

o
<]

01 AlZHI

i

Ok
Ot

Rl

or
Al
<

5,000,000 * 14!

AIDIBEAIE HHI(F
SAIDIBHAIE EH]

30
0B
il

oJ

30
0K
fir
ol

1L.esM0g)

01 2=

101 e124d|

.

o

85,054,000&*1H
85,004,000 +4%

B SS ey Fals]

(16

ill
1

Kr

c
-

4,235,800 +3~ 123
2,867,400 6~ 12




SN PUS
Hu: SHH2HAY|(PYS)
s lIEE2ghl EEREE
. = SIE]
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
Ch.s=2(628) 2,110,800& x5 122 126,648
ct.o=2(828) 1,821,500 x2&* 122 43,716
O X0 529,306,000 4% 21,173
(o =¢) 57,172
REEE=XC RS, 3.618
o532 UL (63NE2)
4,484, 100314 1%+ 122 2,207
Lh62UL(721052)
2,867,400 x 1 *4 1%+ 122 1,411
2.82=¢ 550,479,000& *1/12 45,874
.32+t 7,680
Jh.25800 2 130,0002x1&+12& 1,560
Lt.20H20[&~25E 012t
10,0002 x1&* 122 1,320
Ct. 15 0(&~204 012
80,0002 x 18 * 122 960
2. 10101 &~ 15 0| 2t
60,0008 x2& * 122 1,440
OF.5H0(&~1040] 2
50,0008 *424 * 122 2,400
(/¥ EFSER=)) 29,760
1. 01mag 11,760
INIEN 40,0002!+72 122 3,360
L. XHA S (R RHA)
30,0002 x5 * 122 1,800
Ch A= (SMAHA)
70,0002 38 * 122 2,520
ch A= (A MoI= XtA)
10,0002 +22+ 128 2,640
DF.JIEDLS 20,0002 462 122 1,440
2. S0IEHLY(7275 )
1,500,000 x1&* 122 18,000
(S+22+E) 24,240
1.S4amo4g 24,240
.s=22=+¢ 70,0002 x16H* 122 13,440
Lt QAR 50,0002 x4 = 122 2,400
Ch AR SRR+
70,0002 x7& 123 5,880
ch ARSI R+EI=
30,0002 x7& 122 2,520
(ZU28+H) 73,891
LARIIZ2R+Z
11,3193 *x34A1 2tx16E 12 73,891
(24 8) 83,608
1. 3A=4H 140,0003 x17&+12& 28,560
2. BEFII 550,479,000& +1.2/12 55,048

_91_




SN PUS
M HARAIH|(FLS)
s lIEE2ghl EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
E=1=ENGT)) 37,260
1.52 250,000 «1H* 123 3,000
2.6= 185,000& 32+ 123 6,660
3.72 180,000 x5« 122 10,800
4.895 175,0002 x8E 123 16,800
=&l 112,248 111,440 808
Jl=2&Hl 112,248 111,440 808
201 L= 58,518 57,020 1,498
01 AtR22telbl 28,368 28,368 0
(Bt==2HI) 13,99
1. 2AN2E =2 300, 0003 * 17 +80% 4,080
2.0 ZHRAIRES 100,000& « 12 1,200
3. D&Y 144,150 +5LH*42] 2,883
4. ZAESIEY 135,000& »2CH*42] 1,080
5. Z2IH& A 300,000 *22 600
6.21501cl=2 20,000 =41 = 128 960
7.2150|143 25,0003 x2IH*42] 200
8.elsJ| 2 =4l 200,000 %13 200
9. X0IS=SE2LTEN|
26000215202 A 520
0.2 5HLIS4EX
80,0002 *122f A 960
1.SEUFLSIIEY 253,000 & *42] 1,012
2. 4ES2HHA 300,000 %13 300
(2E+¢) 600
1.e=xE 60,0003 x1& x10! 600
(a4xt=) 3,981
1.83=0] X2 30,000 »3CH =128 1,080
2. ZAHZEH Xz
182,000& *1CH+ 123 2,184
3.3JIMZI| SRz
59,7002 *1CH+ 123 7
(22H) 9,792
ISIELESTEE W
8,000 x6Ax17&x 12 9,792
02 324l 30,150 28,652 1,498
(SS22LHA) 25,398
1.RE2 9,592
Jh.get 4303 *2704+ 123 1,3%4
Lt.SII 2,5303 %2704 128 8,198
&= 900,000 *12& 10,800
a.oteEs 220,000& 128 2,640
4 QEHHAAEZ 28,0002 «1CH+ 123 336

_92_




SN PUS
A HZRAZH(FLS)
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
5. 8RS (HEXE)
60,000 23] 120
IS EE= 600,0002 %12 600
BT E RS KA 40,000 12 40
HAEXNSHI A==
70,0008 %12 70
9.MIXNEEE(REE=N)
1,000,000& %12 1,000
10. 8 IIXXHS KA 130,000& %12 130
N &I NE A== 2 70,0002 %12 70
(A EZEBISXIH]) 4,752
1LEMNHZ 1,000,000 1,000
2. A LS 200,000 1CH 200
3.2AIEED] 100,000 *2CH 200
4. dFxE RS 100,000 *1CH* 122 1,200
5.8 S&H 30,0002 %13 x 122 360
6. eI 7 A2+
130,000 *10CH 1,300
7. Z2AEQIAAY RXI2=H]|
33,0002 *42] 132
8. A2 QUAMAIAE FXIZ ==
30,000& ~12& 360
202 04t 39,900 39,900
01 =LHOHI 4,800 4,800
.=l 20,0003 102 x4 » 123 x50% 4,800
02 A0 35,100 35,100 0
1.2 H0YI 225,000 x13F 128 35,100
203 gF=4| 11,030 11,030
01 D22 HARFA| 7,110 7,110
1.0 228 PRI 7,900,000 *90% 7,110
02 SRt =AY 680 680 0
13N R A 40,0002 17 680
MU FAZSLIFAI 3,240 3,240 0
1L.RA2EE RS
300,000 122 x90% 3,240
204 MPo=AH| 1,800 1,800
01 MG HI=HAHH| 1,800 1,800
1LAMIHRFAY 1,800
s 150,000 x 12 * 122 1,800
405 AtatE = 1,000 1,690 2690
01 ML ESFSHI 1,000 1,690 2690
1AM EJH(OHHIR) 200,000 *5H 1,000
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g2 8 A A

S A - BRI - NRA - BES of e e
1,130,152 1,106,808 ,344
Y EHo| SR(2ES) 184,082 183,904 178
I=AdH =24 184,082 183,904 178
sgE K& 135,720 135,720 0
301 EetE NS 135,720 135,720 0
o7 8% -0 - H¥Es243 135,720 135,720 0
.88+ ¥ 234l 135,720
rol=eE 300,000 x20E «12& 104,400
Lt.&f0iS 300,000 x29H #2353 17,400
Ch.310 &4+
20,0002 x20EH*23|x 12 13,920
HPSXHYH 2208 2 28,020 28,020
201 et 3| 28,020 28,020
01 AtR2telt] 28,020 28,020
(2er=2Hl) 1,620
1BY=TIME 2B
150,000 * 122 x90% 1,620
(242 26,400
1LEESXLE A= 26,400
b A0 LA 25,0002 x8Al 2t 12 2,400
L EetElA 25,0002 *8Al 2t 12 2,400
Ch.2Jtua 25,0003 *BAlI 2t 123 2,400
ch.ot2LDtn A (S3)
25,0002 x8Al 2t 128 2,400
OF.GI2LStR A (==)
25,0002 =8Al 2t 12 2,400
Bt.=sIS 25,0002 +8Al 2t 123 2,400
AL ItR DA 25,0002 +8AI 2+« 12 2,400
Of.creltiA 25,0002 x8Al 2t 12 2,400
X 2E0ILHEHES)
25,0002 =8Al 2t 12 2,400
X 2AE0IHENE=S)
25,0002 +8Al 2t 122 2,400
JhagHA 25,0003 *BAlI 2t 123 2,400
A RX2e] 10,342 10,164 178
101 21AH| 7,282 7,104 178
M ORNZZ2NSE S 7,282 7,104 178
1L SEAMNELU2Y 7,282
HolEs
78,880 /BAI2H+ 1 +55A1 2hx 128 6,508
L. IE2EE 6,508,0002 *1.75% 14
ChATHE S 6,508,000 *0.85%% 56
ct. =22 6,508,000 4. 5% 293
O =21A22S 6,508,000 *3.545% 231
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A HES
B 0l HE HO CR(BSE)
el AHISAHE 29 (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
. LI EIIQAESH 228,0002%12.81% 30
A 22 H & 50,0003 x1H*13] 50
201 fet=23y| 3,060 3,060
01 AtR2tc|HI 3,060 3,060
(A2 EHR) 3,060
1.2l ===
230,000 * 122 2,760
2BNFIINO 442
150,0003 *17H A +23] 300
FUHCUH A SEHEAS 10,000 10,000 0
401 Al HIZ S OHbI 10,000 0 10,000
01 AlZ2H| 10,000 0 10,000
1. 2ASSLUZ Jt24 & AXEC] EX
10,000, 0002 10,000
SADIBHAIE HHI(2SS) 5,000 5,000 0
SADIBEAIE F| 5,000 5,000 0
£32 A&2 F 5,000 5,000 0
401 Al&EI L2 CHE] 5,000 5,000 0
01 Al&H| 5,000 5,000 0
14232 AL |12
5,000,000 * 14 5,000
HY2HAH(2SS) 941,070 917,904 23,166
el 2| 844,318 820,602 23,716
el 24| 844,318 820,602 23,716
101 @124H| 844,318 820,602 23,716
01 &2 844,318 820,602 23,716
(=) 583,843
1LesSM0g) 88,457
hsE 85,004,000 1 85,054
BapSE ) Fal] 85,004,000 4% 3,403
2. X:2E(159) 495,386
ot.628(2453) 4,235,800 «3H 122 152,489
Lh.72(988) 2,770,2008 ~4F« 122 132,970
Ch.s2(658) 2,110,800 x4 12 101,319
ct.o=(4ss) 1,865,700 x4 * 12 89,554
O X0 476,332,000 *4% 19,054
(&0i==d) 48,243
1.832+¢ 495,386,000&1/12 41,283
2. 832 +git=s 6,960
Jh.25301 4 130,000 x1&* 12 1,560
L+.20E 01 &~25 012t
10,0002 x1&* 122 1,320
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SN 2SS
M HZRIZH|(ZSS)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ct. 15 &4~20= 0] 2t
80,0002 1% 12 90
2. 1001 &4~151 0] 8t
60,0002 x1& * 122 720
D501 &~108 018
50,000 x4 * 122 2,400
OBIEd=g) 7,800
1.t5s¢ 7,800
I BN, 40,0002 x62* 122 2,880
Lt JIEDES 20,0002 x6& 122 1,440
B DNE 30,0002 68 122 1,800
ct. = MAH 70,0002 x2& * 12 1,680
(S+=28+2) 23,640
1L.E282sE 23,640
h.s28=¢ 70,0002 x15F«12& 12,600
Lt QRS 50,0002 3~ 122 1,800
CHAIRISAIZ R+
70,0008 x8& * 12 6,720
ch AR SX SR+ 0tetE
30,0002 *7& * 12 2,520
(zD224E) 69,273
LAIRZRIZ222E
11,3192 #34A1 2H+ 158« 123 69,273
(24 3) 76,419
1. 3= 4H| 140,000 x16E12& 26,880
2. BE=F0HI 495,386,000&#1.2/12 49,539
(HZ2EH) 3,100
1.558 250,0003x 1 ~12& 3,000
2.6 185,000& x32* 123 6,660
3.7 180,000& x4~ 123 8,640
4.88~92 175,0002 -8+ 123 16,800
=3t 96,752 97,302 2550
Jl=23H] 96,752 97,302 2550
201 er23y| 46,432 46,432 0
01 AtR2t2|HI 23,244 23,244 0
(get=24l) 12,708
1.2AN2E Sl 300,000 x 16 *80% 3,840
2.0HI2H2 AIRESHI
100,000& ~12& 1,200
3.d0IMERE EH/EY
170, 1203 »6LH*43] 4,083
4.2ANESI] EH 100,000 »2CH*23] 400
50128 MLSE+EX
80,0003 *102 A 800




SN 2SS
M HZYRAZH(2SS
Chel: J1=2 &l EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
6. =USESZ=LIEN
26,0003 182 A 468
7.2AMEX 20,0003 *302f A 600
8.215J| el= 20,0003 21 x 122 480
9.740gs0Z 10,0002« 10412 120
10.371H2)] elE= 59,700 * 122 7
(dxt=) 720
1.8 30,0008 «2CH* 122 720
(2d=¢) 600
(=R 60,0002 12102 600
(S2H) 9,216
1012 RLHS2ZAY|
8,0003x641 %16 * 122 9,216
02 S3=gHl 23,188 23,188 0
(332 & HAl) 19,904
1.28= 7,104
bt 4303 %2002 * 12 1,032
Lt. S 2,530 x20024 123 6,072
2.801= 850,000& * 122 10,200
.otz 50,000 * 122 600
4 8ENY 288 700,000 *1CH 700
5. 2J|%t 282 1,000,000 «1CH 1,000
6. &YXt NSIHAl
150,000 *2CH*13] 300
(AEEHISXIY]) 3,264
1.ZAHE RAEH
800,000& *17H A 800
2.Z2AMEEI| |X2eldl
100,000 *2CH 200
L] R Al2ell 100,000 1CH 100
4. ZRIERIANAE KX 2==H|
33,0003 »2CH=43] 264
5. X2AMAAH STE ==
30,000 *1CH* 12 360
6. &8I 7= 80,0002 x1LH* 122 960
7. AEXE =cltl 100,000 »2CH*33] 600
202 04l 38,700 38,700
01 2LHOIH 3,600 3,600
1.=U 048I 20,0002 * 102 x3B x 122 x50% 3,600
02 A0 35,100 35,100 0
1. 2NN 225,000« 13« 123 35,100
203 =4l 9,820 9,820
01 D122 HARFA| 5,940 5,940
1.0 228 YR8 6,600,000 *90% 5,940
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H & Ol &8 AF R S Ml A
PAAT SOAH LBHBIH JIEISHE DEE ~ 29
2N SUS
M 0l 84X Mo CQ(SUE)
el AE=SANEEHESE EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
ENE 1,270,660 1,231,546 39,114
=0l @ mMo| CR(SUS) 249,026 241,898 7,128
FH=T M2 249,026 241,898 7,128
SorET| 191,880 191,880 0
301 P B 191,880 191,880 0
07 EX - 0lF - SRBESIAI 191,880 191,880 0
ST U By 191,880
obol=sg 300,000 ¥4124 %122 147,600
RNl 300, 0002 #4124%25] 24,600
Ch.8log 20,0002 #4124 %23| « 122 19,680
ZO XM I I e 20,820 20,820
201 Ypr2oy| 20,820 20,820
01 AlR221H| 20,820 20,820
(LeregH)) 1,620
1 EQURXIME 2|
150, 0004 122 *90% 1,620
(2Y+E) 19,200
1 EURXIME SASS 19,200
b Ao mal 25,00021+8AI 2+ 122 2,400
Lh.2tolgiA DAl
25,0002 *8A| 2t 122 2,400
Choeual 25,0002 %Al 2+ 122 2,400
2. eoinal 25,00021+8A] 24+ 122 2,400
OhotRmAl 25,00021+8AI 2++ 122 2,400
HhLESDA 25,00021+8AI 2H+ 122 2,400
ARLEOPIE FRITXIME T2
25,0002#8A| 2t} 122 4,800
BN 2,126 20,198 5,928
101 Q124 7,082 7,104 178
04 222N S 2% 7,282 7.104 178
(SEA A o2 7,282
1.2 78,8802 /BAI2H+ 12445541 24+ 122 6,508
2ATEER 6,508, 0002 +0.85%% 56
k=LY 6,508, 0002 *1.75% 114
420013982 6,508, 0002 4. 5% 293
5. 20121482 6,508, 00021%3.545% 231
6.-OIRIQUTH D
231,00021%12.81% 0
7. 222 7| 50,00024%124%18] 50
201 Ypr2oy| 16,844 13,0 3,750
01 Al 221H| 16,844 13,004 3,750
JCLIETRE N
350,000/ * 122! 4,200
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A SUS
Ha: 0l #E HO| CR(SYE)
e HE=SXNHEHES (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
2 ENFIARO B 4E
280,000 * 122 3,360
L EMSZIISR 22
132,000& 122 1,584
4. FANSZINEII B (SIS
130,000& %12 130
S.AAEEE U= 3,520
I AZAIEotE 2L 190,000 10 1,900
L. SEdEEE & HSI)IsEE
810,000& 22 1,620
= M AS 150,000 %52 750
A deE] !X
250,000 x 122 3,000
8. AIZZEIA WEE8 300,000 300
401 AIEHIZ SR THYI 2,000 2,000
01 AlZ8| 2,000 2,000
1Logl=sSl 2Z224 SAt
2,000,000& *14] 2,000
FUFO A SHEOHSE AL 10,200 9,000 1,200
405 AHaHE = 10,200 9,000 1,200
01 ML ESF SHI 10,200 9,000 1,200
.28 44D 8| 4EE 014 TV £X 10,200
b SEZAIER 4,000,000 =2CH 8,000
Lt. HHECI 1,100,000 2K 2,200
TADIEAIE HEI(EUS) 5,000 5,000 0
SAIDIEIAIE EHI 5,000 5,000 0
A== ANES EHl 5,000 5,000 0
401 AlZHIZ 2018 5,000 5,000 0
01 AlZH| 5,000 5,000 0
1.A525 Ald=E mAl2c
5,000,000 * 14 5,000
HY2AZHI(SUHS) 1,016,634 984,648 31,986
el 2| 894,345 859,056 35,289
el 2ad| 894,345 859,056 35,289
101 @124H| 894,345 859,056 35,289
01 &2 894,345 859,056 35,289
(=) 610,031
1L.esM0g) 88,457
h.s% 85,004,000& 1 85,054
BavSE ) Fal] 85,054,000 4% 3,403
2. X1 2E(159) 521,574
ot.62(1983) 3,943,500 x3H 123 141,966
Lt.72(10&3) 2,867,400 x5« 12& 172,044
the=2(728) 2,305,900 «6E « 12 166,025
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SN BUS
M HYRIZHI(SUHS)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ct.9=2(2&83) 1,789,800 x 12 *12& 21,478
OF. X < IH & 501,513,000 *4% 20,061
(&0i=d) 53,683
LUesRE=g 3,138
ot58tR(622158)
4,070,200& %4 . 1%+ 12E 2,003
Lh72U*((837583)
2,305,9002 4. 1% 123 1,135
2. 824 521,574,000&*1/12 43,465
3.82==8Hts 7,080
J+.20 01 &4~25 01 2
110,000 x 12 * 12 1,320
L. 15801 &~20E 012t
80,0008 x2& * 122 1,920
Ct.10E 01 &~15 012t
60,0002 =2 * 122 1,440
ch.5E0l4~1040] 2t
50,0002 x4 * 12 2,400
OHEd=+€) 24,720
1.0tEg 6,720
I E N 40,0003 x4~ 123 1,920
Lt JIEDFS 20,0002 x10E «12& 2,400
Ch. R XA 30,0002 x2& 123 720
ct. M 70,0008 x2S x 122 1,680
2.20tsXg 1,500,000 x1E~12& 18,000
(S=22+9) 22,440
1.E232sE 22,440
S22 70,0002 x 15122 12,600
Lt QIR RE 50,0002 38 * 122 1,800
ChALRISXIS R
70,000 7 * 122 5,880
ch AR SXIttE
30,0002 x6& 123 2,160
(ZU2R+E) 69,273
LAIRIRIZ2SE
11,3192« 15 +34A| 2+ 123 69,273
(24 8) 79,038
1.3 NS A 140,000 x 16 * 122 26,880
2. 3&=0Hl 521,574,000 +1.2/12 52,158
(HZE=HI) 35,160
1.558 250,000« 1H« 122 3,000
2.68 185,000 x3&* 12 6,660
3.7= 180,000 x5 * 12 10,800
4.895 175,000& x7 &+ 123 14,700
J1I=2d8l 122,289 125,592 23,303
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A SUS

T BHSSAYI(SUS)

Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Jl=3H] 122,289 125,592 23,303

201 er23 | 71,619 71,022 597
01 At2teltl 23,843 23,126 7
(er==&Hl) 11,030
12N 28+ 300, 0002 * 162 *80f% 3,840
2.0HIZERAIRES 100,000 «12& 1,200
BUOINEEEEH/EY
200,000 *5LH*22] 2,000
4.0150|2l= 20,0002 * 101204 240
DAESIIEH 200,000 x2CH =23 800
JEE R ES
80,0003 *158 A 1,200
7.E0s=sR2UaE|
26,0003 252 A 650
SAREX 20,0003 »402f A 800
Q. MEZIUHUHES A7 & =4HI
300,002 300
(2geg) 600
(=R 60,0002 12102 600
(S2Hl) 9,216
IPEEE RS TEE E W
8,000& +62|x16E~12& 9,216
(dx=z) 2,997
.80 gx= 30,0002 +3CH* 12 1,080
2.3J138)| Sit=
50,000 =20 =128 1,200
3.BIIHZ0 K=
59,7003~ 1CH =122 mnr
2 35244l 47,776 47,89% A120
(SS2SLAA) 42,020
.28z 12,020
Jh.get 4303 +2702x 122 1,394
Lt.SII 2,530& %3502+ 128 10,626
2. 80|12 1,500,000& «12& 18,000
3.ZADAZE 500,000& 122 6,000
4. 8otz 350,000 x6 2,100
5. 83X A 180,000& %12 180
IPSEEAT= EAStug=d 400,000 <22 800
7T M=ErdPME
60,0002 %13 60
8.SHIAXHZEE
750,000 *2CH*13] 1,500
0. SHIXNLSESE LM
60,0002 22 120
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2A:

s
ZH: HH2AAH(SUS)
=9l Jl=3l EER-E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
10.83NEFES(SBIXE)
80,000 *23] 160
. SIS A
100,000 *2CH*12] 200
R.USREFES 400,000 12 400
18.013E8 ARE HARS
20,000 =20~ 128 480
(AIE&HI=XIH]) 3,15
LEANASFAEs8I 1,000,000 1,000
2. HZLYSHHIF A 100,000& *14] 100
3.2AHE ST 170,000 <2CH 340
4. &=J|1= A2l 70,0003 *2CH 140
5. Z2QISOIAN AR 2| (21 HA)
33,0002 *3CH*42] 3%
6.2 22| AE R X 2]
30,000~ 1CH* 122 360
7. HIINSHEIAERS
50,0002 1CH =12 600
8B EX L HIIEA ==&
220,000& %12 220
(Xt&Eetl) 2,600
1. A== 150,000 1CH= 123 1,800
2. A EBIs b 200,000 x2CH*23] 800
202 048l 38,700 38,700
01 2L AL 3,600 3,600
130 20,0003 » 10 «3H « 12 +50% 3,600
02 XN 35,100 36,100 0
(=Rl 225,000 x13F 128 35,100
203 HR=H] 9,820 9,820
01 J|2=2gedR=a] 5,940 5,940
10122824 6,600, 000& 90 5,940
02 3t RF&| 640 640 0
[IESEaP) Faiges bt 40,0002 162 640
MU FA2SHIFLI 3,240 3,240 0
1.2A2EHRFALI
300,000& 122 x90% 3,240
204 Xt AH| 1,800 1,800
01 MG HI A A 1,800 1,800
1LAMIHRFAY 1,800
s 150,000 x 12 * 12 1,800
405 KHoHFSH| 350 4,250 A3,900
01 ML ESFSHI 350 4,250 23,900
1.e3a A 7Y 350,000 *1CH 350
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Al A

| &€ = &
248 20lat LEBIH L JIBSERIHA 1dS ~ =23
AN SHS
B 0l HE HO CR(SHE)
&l HF=IHE 29 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
sHS 1,186,169 1,220,440 AN34,271
=0l A Ho| E2(sHS) 206,687 204,116 2,571
YIS 29 206,687 204,116 2,571
S.o0E 2s84ds 163,800 163,800 0
301 EetE NS 163,800 163,800 0
o7 8% -0 - H¥Es243 163,800 163,800 0
.88+ ¥ 234l 163,800
rol=eE 300,000 x35E «12& 126,000
L. &0z 300,000& x35E *23] 21,000
Chalo @A+
20,0002 x35EH*23| 12 16,800
FUAXMEEZ =S 13,296 13,296
201 et 3| 13,296 13,296
01 At2t2l] 13,296 13,296
(2er=2Hl) 1,296
1.2 AIME 28
120,000 * 122 +90% 1,29
(2e=¢) 12,000
1LFEXNX A ZA=E 12,000
b 2IHA) 25,0002 x8Al 2t 12 2,400
Lt. 2I+(B) 25,0003 *8AI2H+ 123 2,400
CHCHOII EHA
25,0002 +8Al 2t 122 2,400
ct.=28013 25,0002 x8Al 2t 128 2,400
0. 2el et 25,0002 x8Al 2t 12 2,400
A=Al 2tel 19,591 17,020 2,571
101 @124H| 4,27 0 4,27
M ORIMZZ2NSE S 4,271 0 4,271
(SEA EA 2=2Y) 4,271
1.a 78,8803 /BAI2H+1H+B5 A1 27 3,797
2. 1E2E 3,797,000 *1.75% 67
3.4 THEE 3,797,000 *0.85%% 33
4.=010=28 3,797 ,000& 4. 5% 171
5. 30AHSEE 3,797,000 *3.545% 135
6. LI QAYBE 135,00024%12.81% 18
7. AL B &I 50,0002 x1H =13 50
201 2= 15,320 17,020 A1,700
01 At2t2ltl 14,320 14,020 300
1.203H1849= 320,000 122 3,840
2. &0t H o 160,000& * 12 1,920
SALALHNEZ U
150,000& 122 1,800
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AN SHS
B 0l HE HO CR(SHE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
4 AYNE HSIISHY
700,000 14 700
5. 52T BB 230,000 122 2,760
6.SHS HA Wl RX2E
250,000 * 122 3,000
7T AE2CeI T} NEFES 300,000 300
2 5234l 1,000 3,000 A2,000
1.dYI] =2l 1,000,000 14| 1,000
FLUHM A STHE ALY 10,000 10,000
401 Al HIZ S OHHI 10,000 10,000
01 A28l 10,000 10,000
1.58S ANEO=SY X
10,000,000 * 10 2 10,000
SADIBAIE HHI(SES) 5,000 5,000 0
SADIEHAIE EH 5,000 5,000 0
A== ANE=E EHl 5,000 5,000 0
401 AlEHIZ 01| 5,000 5,000 0
01 AlZH| 5,000 5,000 0
1.4=2F AIEE |2
5,000,000 * 14 5,000
HY2HAH(SHES) 974,482 1,011,324 N36,842
el 2| 834,480 877,323 N42,843
el =gl 834,480 877,323 N42,843
101 @124H| 834,480 877,323 A42,843
01 &2 834,480 877,323 AN42,843
(22) 569,659
LesSM0g) 88,457
h.s& 85,054,000 1 85,054
LE XIH&H] 85,064,000 4% 3,403
2. XM2E(15Y) 471,202
ot.62(1983) 3,943,500 2~ 122 94,644
Lh.72(983) 2,770,200 x5« 12& 166,212
Ch.s=2(658) 2,110,800 «6E «12& 126,648
2t.9=8&3) 1,821,500 +32* 122 65,574
OF. X0 453,078,000 *4% 18,124
(H=¢) 45,867
1.832+¢ 471,202,00081/12 39,267
2. 832+gt=s 6,600
J+.20 01 &~25EH0( 2
10,0002« 1~ 122 1,320
L. 15301 &~20E 01 2¢
80,0002 x1& x 122 960
Lt.10=0[&~154 012
60,0002 1 * 122 720

- 105 -




AN SHS
B HESAAY|(SHE)
SERRIEESS(T (rel: &gl
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Ct.5H0(&~1040] 2
50,0002 6~ 12 3,600
O =S) 28,440
1.0tEg 10,440
I BN 40,0002 8~ 123 3,840
L. JIEFIS 20,0002 x10E «12& 2,400
Ch. R XA 30,0008 7 * 122 2,520
ct. M 70,0008 x2& * 122 1,680
2.20tsXg 1,500,000 x1&~12& 18,000
(S+222) 22,200
1.E32sE 22,200
S22 70,0002 x 15 =122 12,600
Lt 2IE2RE 50,0002 x4 x 122 2,400
ChALRISXS R
70,0003 6 * 122 5,040
ch ARSI RSEI=
30,0002 6~ 122 2,160
(Zn22=E) 69,273
LAIRRIZ22E
11,3193 x 15 +34A1 2t 12 69,273
(24 8) 74,001
1.3 NS4 140,000 x 16 * 122 26,880
2. 3E=0Hl 471,202,000&+1.2/12 47,121
(Az=22Hl) 35,040
1.58 250,000& x1E~12& 3,000
2.68 185,000 x2&* 12 4,440
3.7= 180,000& 5« 12& 10,800
4.895 175,000& x82+ 123 16,800
=&l 140,002 134,001 6,001
Jl=&H| 140,002 134,001 6,001
201 Ler23 | 90,832 82,431 8,401
01 At2t2lt] 29,362 29,361 1
(et=&Hl) 13,921
1.2A2E 2| 300,000 * 162 *80f% 3,840
2.0 ZERAIRES 100,000& * 122 1,200
3. ZEEIIEH/E™
214,500 *5CH*42] 4,290
4.0180|el= 15,750 =20 123 378
LA SIIEH 150,000 »1CH=23] 300
6.01ZSHMLSEN
87,0003 152 A 1,305
7.FUSES==YsSEXN
26,0003 302} A 780
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AN SHS
B HEAAY|(SHE)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
8. ARUESAY
16,0003 »23] * 140 2 448
9.MBUDIE $2EX
100,000 *1CH* 12 1,200
0. 2SN 15,0002« 10412 180
(2geg) 600
(R=E RS 60,0002 12102 600
(2 9,216
IPICT-ERS e E W
8,000 641 * 16 * 12 9,216
(dxt=z) 5,625
1L8=J18x8 30,0002 «1CH* 12 360
2.BlUIS Xtz 25,0003 401+ 122 1,200
3.3INEEIISR=Z
50,000 =20 =122 1,200
4.ZAHZeE)|YXE
179,000 *1CH* 12 2,148
5.3 NzIIS A=z
59,7002 1CH* 12 mnr
02 s3=gHl 61,470 53,070 8,400
(SS2SLHA) 56,182
1.28= 8,622
bt 4303 %2002 x 122 1,032
Lt. S 2,530 25024 123 7,590
2.80|= 3,500,000 ~12& 42,000
3.4ote=Ez 250,000 * 122 3,000
4 NSRLYFES 400,000 %12 400
5. I BFe= 1,000,000 *2CH 2,000
6. &H X NtSXHAI(2TH)
160,000 %12 160
(AIEZHIRXIH]) 5,288
1L.EMNHZ 2,000,000& 2,000
2. HYYSIH| 100,000 *1CH 100
3. 2AIEED] 200,000 *1CH 200
4. ZERIANAR R 24|
33,000 *4LH*4= 7| 528
5. X2AMAIABS X2 ==H]
30,0002« 1CH =12 360
#HzZ HEY| 00,0002 122 1,200
#ETIY S DAl
150,000 *2CH*32] 900
202 04| 37,200 37,200
01 SLHoIH 4,800 4,800
1.=L0d8I 20,0003 102 4 » 12 +50% 4,800
02 A0 32,400 32,400 0
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1,800
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S - B

124048l

225,000& x 128123

Kl
KF
oF
ol

6,600,000 *90%

40,000 16

Kl
KF

ol
30
OH
X

I+

300,000 » 12 »90%

0
o
110

o

RT

K]
Kt
ok
ol

R
Kr

.

o

150,000& x 1+ 123

a]

ur
Kk
<

F

405 Xt

350,000 *1CH

1.87127
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H & 0l & AHS B Ml A

248 20lat LEBIH L JIBSERIHA 1dS ~ =23
SN 225
B 0l HE HO CR(ILE)
el HESKEEH 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
eSS 1,330,700 1,254,301 76,39
=0l A Ho| E2(=228) 258,376 224,476 33,900
YIS 29 258,376 224,476 33,900
.8y N3 229,320 196,560 32,760
301 EetE NS 229,320 196,560 32,760
o7 8% -0 - H¥Es243 229,320 196,560 32,760
1.88+g 4 54 229,320
rol=eE 300,000 x40« 12& 176,400
Lt.&f0iS 300,000 x49H +23] 29,400
Ct.3lol a4y
20,0002 *49E »23| « 12 23,520
FUAXMEEZ =S 15,696 15,696
201 et 3| 15,696 15,696
01 At2t2l] 15,696 15,696
(2er=2Hl) 1,296
1LFTXME 2|
120,000 * 122 +90% 1,29
(2e=¢) 14,400
1LFEXNX A ZA=E 14,400
L RIMWA(2H)
25,0002 =8Al 2t 12 2,400
L 20t0a (2%)
25,0002 +8Al 2t 122 2,400
Ct.=8013 25,0002 +8Al 2t 128 2,400
et HAATX(ES)
25,0002 x8Al 2t 12 2,400
O HAATIX(ZEZ)
25,0002 <8Al 2t 123 2,400
B Eetel A 25,0003 *BAlI 2t 123 2,400
A= X2t 3,360 3,220 140
201 fer=3| 3,360 3,220 140
01 AtR2t2|HI 3,360 3,220 140
1.2l r+2
80,0004 * 122 2,160
2 MEIIQEHFANYB44R
50,0003 * 10 A+ 128 600
3AYNLBAWBLESR
50,0002 1 A+ 128 600
FUFAHU A SEOHEAS 10,000 9,000 1,000
201 2= 10,000 0 10,000
01 At22t2l] 10,000 0 10,000
1.0{2l0] AE L4 LisAS
10,000,000& * 14| 10,000
SAPDIEAIE HEI(ZRS) 5,000 5,000
SADIBHAIE EH] 5,000 5,000
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2A:

29s

I CADIBIAIE FHI(22S)

St TADIEAIE ZH| EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AB2 AIES FH| 5,000 5,000

401 AlEHIL 2L 5,000 5,000
01 Al&H] 5,000 5,000
1LAB2 AES 22
5,000,0002 *14] 5,000
HYLAFH(ZRS) 1,067,324 1,024,825 42,49
ol 2| 952,252 911,299 40,953
ol 2% 952,252 911,299 40,953
101 Q1248 952,252 911,299 40,953
01 2= 952,252 911,299 40,953
(=22) 634,575
1L.esSM0g) 88,457
ohs® 85,054,00024 %1% 85,054
Lt XM & 85,054,000 *4% 3,403
2. X38((17e) 546,118
ot62(858) 4,183,500 *3& * 128 150,606
Lt.72(85 L) 2,668,400 *4% 122 128,084
Ct.82(65L) 2,208,200 6%+ 128 158,991
ct.92(32E) 1,821,500 4% * 128 87,432
OF. XM & b 525, 13,0002 *4% 21,005
(A0d=g) 58,976
Le32A+Y 2,546
JLeSUR(7S102E)
2,867,400 *4. 1%+ 128 1,411
Lt.72026273%)
2,305, 90021 4. 1%+ 122 1,13
2.8244 546,118,000241/12 45,510
3.H24EINZ 10,920
Jb.254 4014 130,0002 2% * 122 3,120
Lt.20E 0| Af~25 D) 2F
110,000 *3& * 128 3,960
C.10=0] &~ 15E 02
60,0002 2% * 122 1,440
2h.55 01 4~10120] 2
50,0002 #4212 2,400
OHHEES) 29,760
1LoIE4g 11,760
DI BN 40,0002 +7%* 122 3,360
Lt.JIERIS 20,0002 +7 2 * 128! 1,680
Ch. S XHA 30,0002 *5%* 122! 1,800
2t SMXHA 60,0002 5% * 122! 3,600
OF. AU XA 110,002 * 1%+ 122 1,320
2.20IER Y 1,500,000 *1 &+ 1228 18,000
(S+2=2+8) 26,280
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SN 29=
B HESAAY (22E)
cel: e gyl (Bl &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
1.S4amQ e 26.280
ts2f=sE 70,000 *17H 128 14,280
Lt BIAHR 50,0003 x4H«12& 2,400
ChABI= T4
70,0002 +8% » 12 6,720
2k ASI = X 4D
30,0002 +8E« 123 2,880
(Z2244) 78,509
1.AI2H2 2R
11,3193 +=HAI 2175« 123 78,509
(AHI24 S) 84,852
1. 3%z A 40,0002 » 182« 12 30,240
2. BE S| 546,118,000&+1.2/12 54,612
(HMz8ZHl) 39,300
1.5 250,000 x 15+ 123 3,000
2.62 185,000 x3% 128 6,660
3.7= 180,000 x4+ 122 8,640
4.892 175,000 x10H + 123 21,000
234 115,072 113,526 1,546
J123&H| 115,072 113,526 1,546
201 B2 AL| 57,982 57,166 816
01 ArR2eltl 27,508 26,692 816
(LBr~=EHI) 16,540
1. 2823 +2| 300, 0002 » 18 «80% 4,320
2. Z2IHENH 155, 1502 *4CH*43] 2,483
3. E2IHEY 150,000 *4CH* 13 600
4.0180]el2 30,0003 «2CH* 123 720
5.2AHESIIEH 180,000& *2CH*32! 1,080
6.0 AEANLDEX
85,0003 * 155 A 1,275
7.Z0S=SR2eaEN|
26,0003 30 A 780
8.=AEX 20,0003 702t A 1,400
9.0 2L RARES 100,000&*12& 1,200
10.21&3 7|2l H| 200,000& x23] 400
N.ItERIXI (et ZRIED))
80,000 *48 A 320
2. 80| = 30,0003 «3CH* 123 1,080
13. 2 EY B2 R (01STVEAR)
13,7503« 122 165
4. 23 edx= 59,7003 12& 77
(2g+g) 600
RIE= PR 60,00021%124 102 600
(SHI) 10,368
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SN 225
HH: YHSARY(22E)
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
1J12gfs-d8S2sA
8,000 x6A! 182 * 12 10,368
02 S3=gHl 30,474 30,474 0
(SZ2SLHA) 23,476
.28 10,656
bt 4303 +3002A 122 1,548
Lt. S 2,530& 30024+ 12& 9,108
2.8z 650,000 * 122 7,800
3.dotrEes 200,000& +62 1,200
4.0lHl2s0 &= 100,000« 12& 1,200
S5.0plzZ2sH dot+=E2=
50,0002 62 300
6.SHINHEE= 900,000 *2CH 1,800
7 SHUENERAINERE S
70,0002 #23] 140
8.SHINLEE M=
50,0008 22 100
9. &YX XS XA 90,0002 <2CH 180
0.0 EANSAHEE =
100,000& %12 100
(A& EHISXIHI) 6,998
AMNASRAES 900,000 900
2.2ANESD] 100,000 *2CH 200
SHINEFFU
150,000 *1CH* 122 1,800
4. SHE X =2/
150,000 »2CH *33] 900
== Al 50,0002 *3H 150
HH B ST HI= A 100,000 1CH 100
SHHENSAFFU
15,0003 x 104~ 123 180
8. = QI 2HOIA|ABRS X 2=
33,0003 *4LH*42] 528
9. A2 UMA AR S X E =]
30,0002 *1CH* 122 360
10.8271871 887 X2cld|
90,0002« 12& 1,080
n.oczeaa83 il 100,000 2CH 200
R2.EINNSHEIANERS
50,0002 1CH =12 600
202 048l 42,600 39,900 2,700
01 2L A 4,800 4,800 0
130 20,0003 * 10 x4H + 12 »50% 4,800
02 XN 37,800 35,100 2,700
12404 225,0008 x14E 128 37,800
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